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1. OMUC HABYAJIbHOI TUCHUTIITHA

MeTta

Mera BUBYEHHS 1HO3€MHOI MOBH Yy HEMOBHOMY BYy3l —
HiATOTYyBaTH CTYJCHTA J0 YWTAHHS aHTJIOMOBHOI JiTepaTypu 3a
daxom, CIIJIKyBaHHS aHTJIIHCHKOIO MOBOIO B PI3HHX BHIAX
MOBHOI JISUTBHOCTI, MOXJIMBOCTI BUKOPUCTAaHHS aHTJIHCHKOI
MOBH Y IPAKTHUHUX LLUJISX.

KomMmrieteHTHICTD

MEH: 3K02 3paTHicTh  CHUIKYBaTHCS 3 MpPEICTaBHUKAMU
pi3HUX MpodecifHUX Tpyn Ta y MDKHAPOJHOMY KOHTEKCTI
ITYA: 3K6 3aarHicTs 10 npodeciiHOro CIUIKYBaHHS 1HO3E€MHOIO
MOBOIO.

Pesynbrar
HaBYAHHS

MEH: P05 OpranizoByBati Ta 3[1ACHIOBATH KOMYHIKamii 3
MpeACTaBHUKAMHM PI3HUX MPOdECIHHUX TPYII Ta B MIKHAPOTHOMY
KOHTEKCTI;

MEH: P10 Bwmitu aHamizyBaTH i CTPYKTypyBaTH MpOOJIEMH
oprasizauii, = yXBaJIOBaTH  YIOpPaBIIHChKI  pIIIEHHA  Ta
3a0be3reuyBaTh YMOBH iX peaizariii.

IIYA: PHO8 YmMmitu 3niiicHIOBaTH €()EKTUBHY KOMYHIKAIIIIO,
apryMEHTYBaTH CBOIO IIO3WINIO, BHUKOPHUCTOBYBAaTH Cy4acHi
1H(opMalIliitHl Ta KOMYHIKaIllitH1 TeXHOJIOT1i y cdepi myOaigyHOro
YOpaBIIHHSA Ta aAMIHICTpYBaHHS Ha 3acajax  COLIaJbHOI
BIJINOBIJIAJIHOCT1, MPaBOBUX Ta €TUYHUX HOPM.

ITYA: PHO9 CrinkyBaTucsi 1H03€MHOI0O MOBOIO Ha Mpodeciiiny
TEMaTHUKy, OOTOBOPIOBATH MPOOJIeMU IMyOIIYHOTO YIPaBIIHHS
Ta Pe3yJIbTATH JTOCIIJKEHb.

ba3oBi 3HaHHS

3HaTu:
1. I'pamatuyH1 npaBuiIa, rpaMaTH4H1 KOHCTPYKUIL JIJIs
YCHOTI'O Ta MUCbMOBOTO MEPEKIIATy AaHTTIOMOBHUX TEKCTIB
Ta BUKJIaay 1H(popMaIli;
2. JlekcwyHUN MIHIMYM OJMHHILH 3 TPOTPAMHHUX TEM KYPCY.

ba3oBi BMiHHS

Bwmitu:

1. MOSICHIOBATH TpaMaTHUYHI MPABUIIA;

2. BIII3HABATH, PO3PIZHATH Ta TMEpPEKJIaJaTd Pi3HOMAHITHI
rpamMaTH4Hi KOHCTPYKIIIi;

3. PO3YMITH MOHOJIOTIYHI TOBIJOMJIEHHS 3 3aCTOCYBaHHSM
NEBHUX I'PAMAaTUYHUX KOHCTPYKIIiif;

4, 3aCTOCOBYBATH I'paMaTUYHI ITpaBuia Ta KOHCTPYKIUI B

NepeKJIajii TeKCTIB, I1AJIONYHOMY MOBJICHHI Ta Ha MUCHMI.

ba3oBi HaBUYKH

1. BukopucrtoByBaTH TpaMaTH4YHI MpaBujia I TEpeKIagy
TEKCTIB 3 aHITIMCHKOT MOBHU Y MPAKTUYHUX ITUISIX.

2. ByxuBatu rpamaTH4HI KOHCTPYKIIi B YCHOMY MOBJICHHI Ta
nepeKasi TeKCTIB 3 MPOTPAMHUX TEM KYpCY.

IToB’s3aH1

«IHO3eMHa MOBa 3a npodeCIHUM CIPSIMYBaHHIM» 2 p.H.
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cuiiadbycu

[Tonepenus
IUCHAIUIIHA

Hactymna
IUCHAIUIIHA

KinbKicTh TOMWH | JEKIIIT:

npaktu4Hi 3aHATTA: 60 y | cemectpi; 105 y Il cemectpi
7a00paTOPHI 3aHATTS:

CEMIHAPChKI 3aHATTS:

caMocCTiiiHa poOoTa cTyieHTiB: 75y | cemectpi; 120 y 11
ceMecTpl

| cemecTp

2. MPOT'PAMA HABYAJIbHOI JUCHUILJITHU

2.2. Ilpaktuni Moyl | cemectpy

Kon HasBa monyis Ta Tem KinbKicTs ronun
ayautopui | CPC
3M- 14775 | 24,5
1 | 1. a) “Ecology”. 3 5
b) “Environmental Science” 4 5
c¢) Grammar: Indefinite Tenses (active and passive) | 3,75 5
d) I[Tepexian CycniIbHO-TTOJIITAMHOTO TEKCTY 3 4.5
(2500 mp. 3HaKIB)
2. MonaynbpHa KOHTpOJIbHA poboTa Ne 1 1 5
3M- 14775 | 24,5
12 | 1. a) “Environment” 4 5
b) Ilepeknaza cycniabHO-MOTITUYHOTO TEKCTY 3 3)
(2500 np. 3HaKIB)
¢) Grammar: Continuous Tenses (Active and 2,75 5
Passive)
d) IMepexnan Tekcty 3a paxom (8000 ap. 3HakiB). |4 4,5
2. MoaynbpHa KOHTpOJIbHA poboTa Ne 2 1 3




3M- 14,75 | 24,5
I13 |1.a) Population Ecology. 4 6
b) Ilepeknan CyCcmibHO-MOMITHYHOTO TEKCTY 5,75 6
(2500 np. 3HAKIB)
c) Grammar: Perfect Tenses (active and passive) 4 6,5
2. MoaynbpHa KOHTpOJIbHA poboTa Ne 3 1 6
3M- 1525 | 24,5
[14 | 1. a) The Habitat. 3,75 5
b) INepeknaa cycmiabHO-TOTITUYHOTO TEKCTY 4 5
(2500 mp. 3HAKIB)
c) Grammar: Perfect Continuous Tenses 3 5
d) IMepexian Tekcty 3a paxom (8000 ap. 3HakiB). |4 4,5
2. MonynbpHa KOHTpOJIbHA podoTa Ne 4 1 5
3M- | IlucbmoBuUl NiepeKnan 2
I3
CemecTpoBa 3aJlikoBa KOHTPOJIbHA poOoTa 0,5 5
60 105
Pazom:
Kouncynprariii:
1. II’snoBa I3a6emnna FOpiiBHa, 3aB. kad. IHO3EMHUX MOB, K. (iJ10JI. HAYK,
noreHT, moHeAinok 9.00 — 13.00, ayauTopis 607.
2.3. CamocrTiitHa poOoTa cTy/AeHTa Ta KOHTPOJbHI 3axoau y | cemecTpi
Kon 3aBnanHs Ha CPC Ta KOHTpOIBHI 3aX011 Kumbkicrs Crpoxk
MOTYJIS TOJIMH | POBEICHHS
3M-I11 24,5 1-4
THXKICHB
e [linroToBKa 10 yCHOTO ONMUTYBaHHS, 5 2 TUKJIEHb
IIITOTOBKA IrpaMaTUYHOI TEMH Ta IMArOTOBKA
JIOMAIIHHOTO YUTAHHS
e [linroToBKa 10 BUKOHAHHS MOJTYJIHHOI 5 3 THXXIEHD
KOHTpOJIbHOT poO6oTu Ne 1 (060B’s13k0BE)
Koumponwhi 3axoou:
e YCHE ONUTYBaHHS 5 3 TK/ICHb
« [IepeBipka MMCbMOBO BUKOHAHUX CITHCKIB
HE3HAHOMUX CJIIB Ta iX MepeKia Jisl yCHOTO 5 4 TUXKIEHD
NepeKIaay TeKCTIiB




« [lepeBipka NMCbMOBO BUKOHAHUX

rpaMaTUYHUX BIIPaB 4.5 4 TUXKIEHD
e MoaynbHa KOHTpoJibHA poboTa Ne 1 4 THXKJICHD
3M-I12 24,5 5-8
THKJICHD
o [ligroTOBKA 10 YCHOTO ONMUTYBAHHS, S) 6 THXKIEHb
MiArOTOBKA rPaMaTUYHOI TEMH Ta MiATOTOBKA
JIOMAITHbOT'O YUTAHHS
e [linroTOBKA 1O BUKOHAHHS MOAYJIBHOI 5 1 THXKIEHD
KOHTPOJIbHOT poOoTH Ne 2 (060B’SI3K0BE)
Konmpononi 3axoou:
e YCHE OIUTYBAaHHA 5 7 THKIICHD
« [IepeBipka MMCHbMOBO BUKOHAHUX CITHCKIB
HE3HAMOMHMX CIIIB Ta iX MepeKIIaj A yCHOTO 5 8 THKJICHb
nepeKIaay TEKCTIB
e [IepeBipka MMCEMOBO BUKOHAHUX
rpaMaTUYHUX BIIPAB 4,5 8 THK]ICHb
e MoaynbpHa KOHTpOJIbHA poboTa Ne 2 8 THXKJICHb
3M-I13 24,5 9-12
THXJICHb
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 5 10 THKIEHb
IJITOTOBKA I'paMaTUYHOI TEMHU Ta IMArOTOBKA
JIOMaITHbOT'O YUTAHHS
e [IigroToBKa 70 BUKOHAHHS MOAYJBHOI 5 11 TxneHs
KOHTPOJIbHOT po60TH Ne 3 (0060B’3KO0BE)
Konmpononi 3axoou:
e YCHE ONUTYBaHHS 5 11 TmxneHb
« [IepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB
HE3HAHOMUX CJIIB Ta iX MepeKIia Jjisl yCHOTo 5 12 TroxieHb
nepeKIaay TeKCTIB
« [lepeBipka MMCbMOBO BUKOHAHUX 4,5 12 T 1eHb
rpaMaTUYHUX BIIPaB
e MoaynpHa KOHTpOJIbHA poOoTa Ne 3 12 TXIeHBb
3M-I14 24,5 13-15
THXJICHD
e [linrOoTOBKA 10 YCHOTO ONMUTYBaHHS, 5 13 THXKIEHD
MIJITOTOBKA rpaMaTUYHOI TEMHU Ta MiATOTOBKA
JIOMAIITHLOT'O YN TAHHS
e [TigroroBKa 70 BUKOHAHHS MOAYJIBHOI 5 14 THXICHD

KOHTPOJBHOT po60oTH Ne 4 (000B’43K0BE)
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Konmponwvni 3axoou:
o YCHE ONUTYBaHHS
o [lepeBipka mMCbMOBO BUKOHAHUX CITUCKIB
HE3HAHOMHUX CIIIB Ta iX MepeKyaa 1 yCHOrO
NepeKIaay TeKCTiB
« [lepeBipka MMCbMOBO BUKOHAHUX
rpaMaTUYHMX BIIPAB

e MoaynbHa KOHTpOJIbHA poOoTa Ne 4

4,5

14 TuxneHn
15 TmxneHn

15 Tk neHp

15 Tk neHb

3M-I3

[TinroToBKa MMCHMOBOTO MEPEKIATY
KonTpoasHuii 3axin

o [luceMoBUI nepeka
(000B’sI3KOBE)

[TinroToBKa 10 3aJ1IKOBOT KOHTPOJIBLHOT POOOTH
Koumponwni 3axoou:
« 3ajikoBa KOHTPOJIbHA pOoOOTa

15 ToxneHb

Pazowm:

105

1. MeToanKa OpOBEICHHS Ta OHiHIOBaHHH KOHTPOJBHOT'O 3aX0Ay JJIs 3M-III.

MinimManbHUH 00cAT 0a30BUX 3HAHb, IIT0 HEOOX1THUM 11 3aCBOEHHS 3M
—I11:

— YUTATH, TIEPEKIIaIaTH Ta MepeKa3yBatu Tekctu “Ecology”.

— YUTATH, TIepEeKJIaJIaTh Ta aHOTOBAHO MEepeKa3yBaTH CyCI1JIbHO-
MTOJIITUYHI TEKCTH.
— BHW3HAYaTH XapaKTCPHUCTUKU BXXKHUBAHHSI Ta TEPEKIaay TpaMaTHIHUX
spuii 3a Temoro Indefinite Tenses (Active and Passive).
— YWTATH, MEPEKIIaJIaTH Ta aHOTOBAHO TIEPEKa3yBaTH TEKCTU 3a (aXOBOIO
TEMATHKOIO.

MaxkcumanbHa cyma 6aJiiB 3a 000B’A3K0Bi 3ax014 KOHTPo.JIi0 3 3M-II1 — 23

0aJIN:

1 3aBnanasg — 17 OamiB:

JuB. Tabm. 2.2

a) 5(1+1+1+2)

1 — ynuTaHHA TEKCTY aHTJIIMCHKOI MOBOIO
1 — cniucok He3HaMOMMX CJIIB Ta 1X MepeKia
1 — ycHuit nepexsaa TeKCTy




2 — mepeKas3 TeKCTy

b) 4(1+1+1+1)
1 — ynTaHHA TEKCTy aHIIMCHKOIO MOBOIO
1 — criucox He3HAHOMHUX CIIIB Ta iX MepeKiIal
1 — ycHuil nepeknaa TeKCTy
1 — nmepeka3 Tekcry

c) 4(2+2)
2 — nucbMoBUH KoHCIIeKT mpaswit 3 Temu Indefinite Tenses (Active and Passive)
2 — IMChbMOBO BUKOHAH1 T'paMaTU4HI BIIPaBU

b) 4(1+1+1+1)
1 — cnircok He3HAHOMUX CIIIB Ta iX TepeKiIa
1 — ycHuit mepekas TeKCTy
1 — n1uchbMOBO BUKOHaHE Summary
1 — ycue Summary

1 3aBganus (17 O6amiB) He € 00OB’SI3KOBHUM.

2 3aBHaHHsa — 23 Oaiu:

Buxonanug MKP Ne 1

MonynpHa KOHTpodbHa pobora ckiamaeTbesi 3 30 3aBmanb. KoskHe
3aBaanHs 0,77 6amiB. MoayiibHa KOHTPOJIbHA pOOOTa BBAXKAETHCS 3apPax0BAHOIO,
SKIT0 HaJAaHO MiHIMYM 18 mpaBUIIbHUX BIATOBIICH.

ko 3axonu 000B’SI3KOBUX (POPM KOHTPOJIKO BUKOHYIOTHCSI CTYJAEHTOM
MICIsl CTPOKIB, BU3HAYEHUX Y MpOrpamMi HaBUAJIbHOI JUCUUIUIIHHU, KUIBKICThH
OayiB, M0 MOXE€ OTPUMATH CTYACHT, HEe Moxe mnepesuinyBatu 60% Bif
MaKCUMaJIbHO MOXJIMBOI IS Li€T (POPMHU KOHTPOJIIO.

OmuiHka 3a okpeMi (200 yci) MOyl 3HUKYEThCA Y pa3l MPOMYCKIB 3aHATh
CTYJIEHTOM. 3a KOXKHE NpOIyLIeHe 3aHATTA 3HWKyeTbesa 0,5 Oamm, ane
MiHIMQJIbHA OIlIHKA TICIA 3HWXKEHHS He Moxke Oytu Hmwk4da 60% Bin
MaKCHUMaJbHO MOXJIUBOLI.

MaxkcumanbHa cyma 000B’a3k0Bux 6ainis 3 3M-I11- 23 6anu.

2 3aBnanHs (23 6ann) € 000B’I3KOBUM.



2. MeTtoarka IpOBEICHHS Ta OHiHIOBaHH}I KOHTPOJIBHOI'O 3aX0o4y AJIA 3M-I12.

MiHIMaabHUM 00CcAT 0a30BUX 3HAHD, 1110 HEOOX1AHMH U1 3aCBOEHHS 3M
—112:

— YUTATH, TIEPEKIIAIaTH Ta IepeKa3yBaTu Tekct “Environment”.

— YUTATH, IEPEeKIalaTy Ta aHOTOBAHO MEePEeKa3yBaTH CYCNUTbHO-TIOMITHYH1

TEKCTH.

— BH3HAYATH XAPAKTEPUCTUKH BXXWUBAHHS Ta TEPEKIaAy TpaMaTHIHHX

sBuI 3a Temoro Continuous Tenses (Active and Passive).

— YUTATH, IEPEKIIaaTH Ta AHOTOBAHO MEePEKa3yBaTH TEKCTH 3a (HaxOBOIO

TEMAaTHKOIO.

MaxkcumanabHa cyma 6aJjiiB 3a 000B’s13K0Bi 3aX01u KOHTPOJII0 3 3M-I12 — 23
O0asu:

1 3aBmanusa — 17 GauiB:

JuB. Tabm1. 2.2

a) 5(1+1+1+2)
1 — yuTaHHA TEKCTY aHTJIIMCHKOI MOBOIO
1 — cniucok He3HaMOMMX CJIIB Ta IX MEepeKIaj
1 — ycHuit nepexian TeKCTy
2 — mepeKas TeKCTy

b) 4(1+1+1+1)
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKiIal
1 — ycHuit nepexaa TeKCTy
1 — nucbMOBO BUKOHaHEe Summary
1 — ycue Summary

c) 4(2+2)
2 — MMCbMOBHH KOHCTIEKT nipaBmi 3 Temu Continuous Tenses (Active and Passive)
2 — MMCbMOBO BHKOHAHI TpaMaTUYHI BIPaBU

d 4(1+1+1+1)
1 — criucok He3HAMOMUX CIIIB Ta IX MEpeKIa
1 — ycHuil nepeknaa TeKCTy
1 — nucpMOBO BUKOHaHE Summary
1 — ycue Summary
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1 3aBmanns (17 0aniB) He € 00OB’SI3KOBUM.

2 3aBaauHs — 23 Oaau:

Buxonannusa MKP Ne 2

MonynpHa KOHTpOJbHa pobOoTa ckiamaerbess 3 30 3aBmanb. KokHe
3apnanns 0,77 6aniB. MoyipHa KOHTPOJIbHA poOOTa BBAKAETHCS 3aPaxOBaHOIO,
SKIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJIOBIIEH.

Sxio 3axonu 000B’SI3KOBUX (HOPM KOHTPOIKO BUKOHYIOTHCS CTYACHTOM
MiCIsg CTPOKIB, BU3HAUEHUX Yy MporpamMi HaBYaJIbHOI JUCIUIUIIHHM, KUIBKICTh
OayiB, 10 MOXE OTPUMATHU CTYAEHT, HEe MOKe mnepeBuiryBatd 60% Bif
MaKCHUMAaJIbHO MOKJIUBOI JUIs 1i€1 ()OpMU KOHTPOJTIO.

OriHka 3a okpeMi (200 yci) MOJTyJI 3HUXKY€EThCS Y pa3i MPOITYCKIB 3aHSTh
CTYJIGHTOM. 3a KOXXHE TpOIyIIeHe 3aHATTS 3HWKyeTrbea 0,5 Oamm, ane
MiHIMajJbHa OIlIHKA TICIsS 3HIKCHHS He Moxe OyTu Hmwkda 60% Bif
MaKCHUMaJbHO MOJIABOLI.

MaxkcumaipHa cyma 000B’a3k0BuX 6aiis 3 3M-112 — 23 Ganu.

2 3apmanHsa (23 6anaun) € 000B’I3KOBHM.

3. MeToauka npoBEJIEHHS Ta OIIHIOBAHHSA KOHTPOJBLHOTO 3ax0ay Juid 3M-T13.

MinimMaabHUH 00CsAT 0a30BUX 3HAHb, 1110 HEOOX1JHUM 11 3acBOEHHS 3M
—113:

— YUTATH, MIEPEKIIaIaTh Ta epekasyBatu Temy “Population ecology”.

— YUTATH, MePEKIIaaTH Ta aHOTOBAHO IMepeKa3yBaTH TEKCTH 3a (paxoBoro

TEMAaTHKO¥O.

— YUTaTH, IEPEKIAAATH Ta AHOTOBAHO NIEPEKA3yBaTH CYCHUIbHO-TIOIITHYHI

TEKCTH.

— BHW3HAYATH XapPAaKTEPHUCTUKH BXXWBAHHS Ta TEPEKIaay TpaMaTHIHHX

sBuill 3a Temoro Perfect Tenses (Active and Passive).

MaxkcumanbHa cyma 6aJiiB 3a 000B’A3K0Bi 3aX014 KOHTPo.JII0 3 3M-II3 — 22
oau:

1 3aBnanasg — 17 Oanis:

JuB. Tabm1. 2.2
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a) 6(L+1+2+2)
1 — yuTaHHS TEKCTYy aHTIHCHKOI0 MOBOIO
1 — circok He3HAOMUX CITIB Ta 1X HMepeKal
2 — yCHUII TIepeKyaa TEKCTy
2 — mepeKas TeKCTy

b) 6(1+2+1+2)
1 — circok He3HAWOMUX CIIIB Ta iX TepeKiIan
2 — yCHUI TepeKyaa TEKCTY
1 — n1chbMOBO BUKOHaHE Summary
2 — ycHe Summary

c) 5(2+3)
2 — muchbMoBHH KoHCeKT npaBmi 3 Temu Perfect Tenses (Active and Passive)
3 — MUCHMOBO BUKOHAHI rpaMaTU4HI BIPaBU

1 3aBganns (17 6amiB) He € 000B’SI3KOBHM.

2 3aBJIaHHs — 22 Oau:

Buxkounanusa MKP Ne 3

MonynpHa KOHTposibHa pobora ckiamgaerbess 3 30 3aBmanb. Kokne
3aBaanHs 0,73 Oanm. MoaylibHa KOHTPOJIbHA poO0Ta BBAXKAETHCS 3apPax0BaHOIO,
SKIT0 HaAaHO MiHIMYM 18 npaBUIILHUX BIATOBIICH.

Sxmo 3axonu 000B’SI3KOBUX (POPM KOHTPOJIFO BUKOHYIOTHCSI CTYJICHTOM
miCJsl CTPOKIB, BU3HAYEHUX Yy Mporpami HaBYajdbHOI JMCIMIUIIHM, KUIBKICTh
OayiB, M0 MOXE€ OTPUMATHU CTYAEHT, HE MOXe mnepeBuiyBatu 60% Bif
MaKCUMaJIbHO MOXJIMBOI JIJIs Li€T (POPMHU KOHTPOJIIO.

OmuiHka 3a okpeMi (200 yci) MOYJIl 3HUXKY€EThCA Y a3l MPOIYCKIB 3aHATh
CTYJIEHTOM. 3a KOXXHE TMpOMylleHe 3aHATTS 3HWKyeTbes 0,5 Oana, ane
MiHIMaJIbHAa OIliHKa TIICIS 3HIKEHHS He Moxe Oytu Huwxkda 60% Bix
MaKCHUMAaJbHO MOJIABOI.

MaxkcumaibHa cyma 000B’a3k0oBux 6amis 3 3M-113 — 22 Ganu.

2 3aBnanHs (22 6ann) € 000B’ I3KOBUM.
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4. MeTtoarka IpOBEICHHS Ta OHiHIOBaHH}I KOHTPOJIBHOI'O 3aX0o4y AJIA 3M-I14.

MiHIMaabHUH 00CcAT 0a30BUX 3HAHB, 1110 HEOOX1THUH JJII 3acBO€HHS 3M
—114:

— YUTATH, IEPEKIIAJIaTH Ta Iepeka3yBaru TeMy “The habitat”.

— YUTATH, MIEPEKIIaIaTi Ta AHOTOBAHO MEpPEeKa3yBaTH TEKCTU 3a (pPaxoBoro

TEMaTHKOIO.

— YUTATH, IEPEeKIaIaTy Ta aHOTOBAHO MEepPeKa3zyBaTH CyCNUTbHO-TIOMITHYH1

TEKCTH.

— BHW3HAYATH XApPAKTEPUCTUKH BXKWBAHHS Ta TEPEKIaay TpaMaTHIHHX

s 3a Temoro Perfect Continuous Tenses (Active and Passive).

MaxkcumanbHa cyma 6aJiiB 3a 000B’A3K0Bi 3aX014 KOHTPo.1I0 3 3M—-I14 — 22
O0asu:

1 3aBmanag — 17 Ganis:

JuB. Tabm1. 2.2

a) 5(1+1+1+2)
1 — yuTaHHS TEKCTY aHTIIIHCHKOI MOBOIO
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKya
1 — ycHuit mepekaa TeKCTy
2 — mepeKas TeKCTy

b) 4(1+1+1+1)
1 — cniucok He3HAMOMMX CJIIB Ta 1X MepeKiaj
1 — ycHuit nepexaa TeKCTy
1 — nucbMOBO BUKOHaHEe Summary
1 — ycue Summary

c) 4(2+2)
2 — michbMOBHiT KoHCTIEKT mpaBui 3 Temu Perfect Continuous Tenses (Active and
Passive)
2 — MICHMOBO BUKOHAH1 TPaMaTUYH1 BIIPaBU

d4(@Q+1+1+1)
1 — criucok He3HAMOMUX CIIIB Ta IX MEpeKIa
1 — ycHuit nepexsaa TeKCTy
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1 — mucekMOBO BUKOHaHE Summary
1 — ycae Summary

1 3aBmanns (17 0aniB) HE € O0OB’SI3KOBUM.

2 3aBaaHHs — 22 Oanu:

Buxonanug MKP Ne 4

MonynsHa KOHTposibHa pobOora ckiagaerbess 3 30 3aBmanb. Koxne
3aBaanHs 0,73 6anu. MoayiibHa KOHTPOJIbHA poO0Ta BBAXKAETHCS 3apPaX0BaHOIO,
SKITO HaJAaHO MiHIMYM 18 nmpaBUIIbHUX BIATIOBIEH.

Sxmo 3axonu 000B’SI3KOBUX (POPM KOHTPOJIFO BUKOHYIOTHCSI CTYICHTOM
MiCJsl CTPOKIB, BU3HAYEHUX Y Mporpami HaBYaJbHOI JAMCIMIUIIHM, KUIBKICTh
OayiB, 10 MOXE OTPUMATH CTYACHT, He Moxe mnepesuinyBatu 60% Bif
MaKCHUMAaJIbHO MOKJIUBOI JUIs 11i€1 ()OpMU KOHTPOJIIO.

OmuiHka 3a okpeMi (200 yci) MOyl 3HUKYEThCA Y pa3l MPOMYCKIB 3aHATh
CTYyIICHTOM. 3a KOXXHE TIPOIYIICHEe 3aHATTA 3HIWKyeThes 0,5 Oamm, ane
MiHIMaJIbHAa OIlIHKa TIICJS 3HI)KEHHS He Moxke Oytu Huxya 60% Bin
MaKCHUMAaJbHO MOJIABOLI.

MakcumanbpHa cyma 000B’s13koBuX OaitiB 3 3M-114 — 22 6anu.
2 3aBnanHs (22 6anu) € 000B’ I3KOBUM.

3. MeToauKa NpoOBeIeHHS TA OIIHIOBAHHS iHIMBIIYAJLHOI0 3aBIAAHHS 3M-
13 (MUCLMOBOI0 MEPEKJIANAY) .

[HaMBigyanbHe 3aBIaHHS 1€ TMCHMOBHM Tepekyiaj 1BOX BUAIB TeKcTiB (25 000
np.3HakiB). 1. Ilepeknan Tekcty 3a daxom (15 000 ap.3nakiB). 2. Ilepexmnan
cycnuibHO-omTHYHOT Jiekcuku (10 000 ap.3HaKiB).

MinimManbHUM 0OCSAT MUCHMOBOIO MEPEKIaay, 10 HEOOXIAHUMN IJIsi 3aCBOEHHS
HaBUYOK POOOTH 3 1HO3EMHHUM TekcToM ckiaaae 25 000 ap. 3HaKiB 3a ceMecTp.

[Tepexnan TekcTy 3a (haxoMm OIIHIOETBCS B 5 0aiiB, MEpeKsiajl CyCHUIbHO-
MOJIITUYHO1 JIGKCUKU OINHIOETBCA TeX B 5 OamiB. YChoro iHIMBIAyadbHE

3aBIaHHd OLIHIOETHCS B 10 OaiB.

[nmuBinyansue 3aBaands (10 6amiB) € 00OB’SI3KOBUM.
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4. MeToauKa NPOBEACHHS TAa OLIHIOBAHHA CEMEeCTPOBOI0 3AJiKOBOI0
3aBJAaHHSI.

3amikoBa ceMecTpoBa KOHTPOJbHA poOoTa ckianaeTbcs 3 40 3aBHaHb.
Koxne 3aBmanns 2,5 Oamu. 3amikoBa KOHTPOJbHA pPOOOTa BBAXKAETHCA
3apaxoBaHO0, SIKIO HaaHo MiHIMyM 20 MpaBUIBLHUX BiATOBIACH.

KoHTponb mMOTOYHMX 3HAaHb BUKOHYEThCS Ha 0a3i HAKOMHUyBaJIbHOI
CUCTEMU OpraHizaiii HaB4aHHS.

dakTuuHa cyma OaliB, SIKy OTPUMY€ CTYACHT 3a TEBHUN 3MiICTOBHHM
MOJIyJIb, MA€ CKJIAJIATUCA 13 pe3yJbTaTiB BUKOHAHHS 3aXOJIB 3 KOHTPOJIIO, IO
3aljlaHOBaHl 3a IMM 3MICTOBHUM MOJYJIEM, Ta YypaxOBYBAaTH CBO€YACHICTh
(HampuKIaa: CTYJEHT, SKUW MPOMYCTUB KOHTPOJBHMUM 3axiy 03 MOBAKHHUX
npuyuH abo OTpUMaB HE33JO0BUIBHY OLIHKY, Ma€ MpaBO y THXKHEBHH TEpMiH
BUKOHATH 3aBJaHHA IbOTO 3aXO0ly 3 MAaKCHMAaJbHOIO CyMOI OalliB,
€KBIBJICHTHOIO OINHII HE OUIbIIKM HiX "3aJ0BUIBHO") BUKOHAHHS CTYJICHTOM
rpadiky HaBYaJIbHOTO MPOIIECY.

CymMmu 6ainiB, sIKI OTpHMaB CTYJIEHT 3a BCiMa 3MICTOBHUMH MOJYJIIMH HaB-
YaJbHOI JUCUUIUIIHU, (OPMYIOTh KIJIBKICHY OLIHKY (0an yCHIIIHOCTI) 3a
MiICYMKaMH TOTOYHUX KOHTPOJIOIOYMX 3aXOJiB CTyAE€HTAa 3 HaByYaJbHOI
TUCIMIUTIHU. Pe3ynpTatv MOTOYHOTO KOHTPOIO 3aHOCATHCS IO IHTErpajbHOI
B1IOMOCTI. PimieHHs mpo AOMyCK CTyAEHTa 10 MIJICYMKOBOI'O CEMECTPOBOIO
KOHTPOJTIO 3 KOHKPETHOI HaBYaJIbHOI JUCHIHUIUIIH periIaMeHTyeThes [lomosxxeHHsIM
PO MPOBEACHHS IMIJICYMKOBOI'O KOHTPOJIIO 3HAHb CTYECHTIB.

CryzneHT BBaXaeTbCd JAONYLIEHUM JO TiJACYMKOBOTO CEMECTPOBOIO
KOHTPOJIIO, SIKIIO BIH BHUKOHAB BCl BUIU POOIT, mepeadadeHi poOoYoro
HABYAJIBHOIO MTPOTPAMOI0 JUCIUILTIHY 1 HAOpaB 3a MOIYJILHOIO CUCTEMOIO CYMY
6aniB He meniie 50 (50%) Bim MakCUMaIbHO MOXJIMBOI (0OOB’SA3KOBAa YaCTHHA
100 GamniB) 3a MpaKTUYHY YACTUHY.

[TicyMKOBUM KOHTPOJIEM 3HAHb CTYJICHTIB € 3aJIiK.

CryaeHT oTpMMY€ 3aJIiK, KOJM BIH Ma€ Ha OCTaHHIN JICHb CEMECTpPY
IHTErpajibHy cyMy 0ajliB MOTOYHOTO KOHTPOJIIO, J0cTaTHIO (60% Ta Oiibliie) st
OTPMMAaHHSI TMO3UTHUBHOI OLIHKK Ta He MeHme 50% Bigx MakCHMMaJIbHO
MOZKJIMBOI CyMH 0aJ1iB Ha 3a/1IKOBid KOHTPOJIbHIN Po0OTI.

[aTerpanpHa ominka (B) mo qucrumuiiHi po3paxoByeThes 3a GOPMYIIO0
B =10,75 x O3 + 0,25 x O3KP,

ne O3 — kinbKicHa omiHKa (y BIJICOTKax BiJ MaKCUMaJIbHO MOXJIHMBOI) 3a
3MICTOBHUMH MOJTYJISIMHU;
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O3KP — xinbkicHa omiHKa (y BIJICOTKaxX BiJi MaKCUMaJlbHO MOYKJIMBOI)
3aJIIKOBOi KOHTPOJILHOI POOOTH.

3. PEKOMEHJAIIIL IO CAMOCTIMHOI POBOTH CTYJEHTIB

3.1.  Mooynv 3M-II1 “Ecology”, “Environmental science”; I pynu uacie
Indefinite (Present, Past i Future) 6 akmugnomy i nacugHomy cmamnax, nepexiao
CYCRIIbHO-NOJIMUYHO20 MEKCHY 3 AHRNIIUCHKOL HA YKPAIHCHK) MO8BY.
Jlitepatypa: [1, c. 9 -15], [2, c. 20-24], [6, c. 10-23]

3.1.1. [ToByanHus

a) Text A. “Ecology”

. [IpounTaT TEKCT aHIIIICHKOIO MOBOIO.

. Bunucartu 3 TekCTy HOBI CJIOBA Ta 3pOOUTH iX MEPEKIIA/I.

. YCHO MepeKIIacTy TEKCT 3 aHTJIHChKOI Ha YKPaiHChKY MOBY.
. [lepexazatu TEKCT.

AW =

b) Text B. “Environmental Science”.

. [IpounTaTé TEKCT aHTIIIMCHKOIO MOBOIO.

. Buncatu 3 TekcTy HOBI ClloBa Ta 3p0OUTH X MEPEKIIa/l.

. YCHO mepeKIIacTu TEKCT 3 aHTTIHChKOI Ha yKPaiHChKY MOBY.
. [lepekazatu TeKCT.

DW=

¢) Grammar:
['pymu yacis Indefinite (Present, Past i Future) B akTHBHOMY 1 HIACUBHOMY
cTaHax

1. 3poOuTH KOHCIIEKT IPAaBUJI YTBOPEHHS Ta BXKMBaHHs Tpymnu yaciB Indefinite
(Present, Past, Future) B Active and Passive Voice.
2. BukoHaTH TpeHyBallbHI TpaMaTHU4HI BIIPaBH.

d) JlomarHe yntanHs (MepeKIa CyCnibHO- O THYHOTO TEKCTY)
1. CamocTiitHO 00paTy TEKCT 3 aHTTIOMOBHOI razetu (2500 ap.3HaKIB)

2. BunucaTu 3 TeKCTy HOBI CJIOBa Ta 3pOOHTH X TIEpeKIal.
3. YCHO nepeks1acTu TEKCT 3 aHIJIIIChbKOT Ha YKPaiHChbKY MOBY.
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4. TTucbmoBe Summary.
5. ¥Ycue Summary

©CoNok~wNE

3.1.2. [lutanHs U1 caMONepeBIpKU

What is ecology?

What factors does the organism environment include?

How did Ernst Haeckel define ecology in 18667

Who wrote the first university course on the subject?

How is ecology usually considered?

What disciplines does ecology comprise?

What whole-world problems require attention nowadays?

What groups of organisms plant (bird, plankton) populations comprise?
. What is the parallel form for “ecosystem” in Ukrainian literature?

10 What can you tell about environmental problems in Ukraine?
11.What do you know a about environmental crisis in the world?

3.2.

Mooynw 3M-II2 “Environment”; I pynu uacie Continuous (Present,

Past i Future) 6 akxmugnomy i nacugHomy cmaHax, nepexiao cyCnilbHo-
RONIMUYHO20 MEKCM) 3 AH2NILCLKOI HA YKPAIHCHKY MOBU, NepeKiad meKcmy 3a
gaxom.

Jliteparypa: [1, c. 16 -25], [2, c. 24-26], [6, c. 24-34]

a)

b)

3.2.1. [ToBuaHHus

Text “Environment”.

1. IlpounTaT TEKCT aHTIIIHCHKOIO MOBOIO.

2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX MEpeKiIa.

3. YCHO nepeKacT TEKCT 3 aHTIIHCHKOI Ha YKPaiHCbKY MOBY.
4. Ilepekas3aTu TEKCT.

[lepeknaz cycnuibHO-OJITUYHOTO

1. CamocTiitHO BUOpaTh TEKCT 3 aHTTIOMOBHO] razetu (2 500 mp.3HaKiB)
2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.

3. YCHO nepeKs1acTu TEKCT 3 aHIJIIIChbKOI Ha yKPaiHChKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary

I'pynu gacis Continuous (Present, Past i Future) B akTuBHOMY i
[IACUBHOMY CTaHax
1. 3poOuTH KOHCTIEKT MPaBUJI YTBOPEHHSI Ta B)KUBAHHS TPYMH YaciB
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7.
8.

9.

Continuous (Present, Past, Future) B Active and Passive Voice.
2. BukoHaTu TpeHyBaJIbHI rpaMaTH4HI BIPABHU.

d) Momamne yntanns. [Tepeknan Tekcry 3a haxom
1. CamocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a ¢axom (8000
1p.3HaKiB
2. BunncaTty 3 TeKCTy HOBI CJI0OBa Ta 3pOOHTH X TIEpeKIal.
3. YCHO mepeKs1acTu TEKCT 3 aHTJIIMChKOI Ha yKPaiHChKY MOBY.
4. TTmcpmoBe Summary.
5. Ycue Summary

3.2.2. [lutanHs U151 caMOIIepeBIpKU

What types of ecological factors do you know?

What reaction of the organism on the abiotic factor’s influence (e.g.
temperature) may be observed?

What factors are primary? Secondary?

What are the climatic factors?

What abiotic factors are essential to life?

What are the five factors that affect climate? What factors regulate
temperature?

What climate factors affect Ukraine?

What are the major biotic factors in ecological systems?

What are major limiting abiotic factors in deserts?

10.What are the major abiotic factors of the temperate rainforests?
11.What are major biotic and abiotic factors of a lake?

3.3. Mooyas 3M-II3 “Population Ecology ”; I pynu uacie Perfect (Present,
Past i Future) 6 akmusnomy i nacusnomy cmauax, nepexiao CycnilbHo-
NONIMUYHO20 MeKCMY 3 AH2TTUCLKOI HA YKPAIHCLKY MOBU.

Jlitepatypa: [1, c. 25-34], [2, c. 26-28], [6, c. 35-46]

3.3.1. [ToByanHus

a) Text “Population Ecology”.

1. [IpounTaTy TEKCT aHTTINCHKOIO MOBOIO.
2. BunucaTu 3 TEeKCTY HOBI1 CJIOBa Ta 3pOOUTH iX MEpeKIal.
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3. YCHO nepekiacTi TEKCT 3 aHTUIICBKOI Ha YKPaiHChKY MOBY.
b) Jlomarine yntanHs (epekia CyCHIbHO-TIOJITHYHOTO TEKCTY)

1. CamocTiifHO BHOpaTH TEKCT 3 aHTJIOMOBHOI Ta3eTtH (2500 ap.3HaKiB)
2. Bunucatu 3 TEKCTY HOBI CJIOBA Ta 3pOOUTH 1X MEpeKIal.

3. YCHO nepeKIiacTi TEKCT 3 aHITMChKOT Ha YKPaiHChKY MOBY.

4. [TucpmoBe Summary.

5. Ycue Summary

¢) Grammar:
I'pynu yaciB Perfect (Present, Past i Future) 8 akTuBHOMY i TTACUBHOMY

CTaHax

1. 3poOuUTH KOHCTIEKT MPaBUJI YTBOPEHHS Ta B)KUBAHHS TPYIU YaciB
Perfect (Present, Past, Future) B Active and Passive Voice.
2. BukoHaTu TpeHyBaJlbHI FPaMaTH4HI BIPABH.

3.3.2. IlutanHs 1151 caMOTIepEBIpKU

How can we describe a population’s distribution?

What are three common distribution patterns observed among individuals
within a population?

Why do we try to estimate population sizes?

What values are indicated on the survivorship curve? Draw and explain.
What values can be obtained from the age structure diagram? Draw and
explain.

What information can you get from a life table? Draw and explain.

Is a population a group composed of all members of the same species?
What is population?

. Where does this group live?

10 What does population ecology study?
11.What will the status of specific population indicate?
12.What can the areas occupied by a population include?

3.4. Mooyns 3M-II4 “The Habitat”; I pynu uacis Perfect Continuous
(Present, Past i Future) 6 akmueHomy i nacugHoMy Cmanax, nepekiao
CYCRIIbHO-NONIMUYHUL MEKCM 3 AH2NIUCHKOI HA YKPAIHCLKY MOBU, NepeKiad
mexcmy 3a ¢haxom.
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Jlitepatypa: [1, c. 35-45], [2, c. 28-32], [6, c. 47-58, 61-62]

a)

b)

c)

3.4.1. [loBuanus

Text “The Habitat”.

1. I[IpounTaTu TEKCT aHTIAIMCHKOIO MOBOIO.

2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH iX TIEPEKIIAI.

3. YCHO nepeKIiacTi TeKCT 3 aHITMChKOT Ha YKPaiHChKY MOBY.
4. Ilepekaszatu TEKCT.

JlomarHe ynTaHHs (TIepekiaj CyCIiIbHO-TTOJITUYHOTO TEKCTY)

1. CamocTiitHO 00paTu TEKCT 3 aHTIIOMOBHOI razetu (2500 mp.3HaKiB)
2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH X TIEpEKIal.

3. YcHO nepeksiacT TeKCT 3 aHTIIHCHKOI Ha YKPaiHChKY MOBY.

4. [TucpmoBe Summary.

5. ¥Ycue Summary

Grammar:
I'pyou vaciB Perfect Continuous (Present, Past 1 Future) B aktTuBHOMY 1

INAaCMBHOMY CTAaHAXx

d)

1. 3poOuTH KOHCIIEKT MTPaBUJI YTBOPEHHS Ta BYKMBAHHS IPYIIH YaciB
Perfect Continuous (Present, Past, Future) B Active and Passive Voice.
2. Bukonatu TpeHyBaJIbHI rpaMaTH4HI BIIPABH.

HNowmamine yntanns. [lepexnan Tekcry 3a haxom

1. CaMOCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAaKIB

2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.

3. YCcHO nepeKIiacTu TEKCT 3 aHTIHChKOI Ha YKPAiHChKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary

3.4.2. [lutanHs 175 caMOTIEPEBIPKU

1. How do we call the place occupied by organisms? Where the habitat can be
found?
2. What factors does the habitat consist of?
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What specific place tells about the role of species in the ecosystem?

What does the ecological niche tell us about? What factors does ecological
niche depend upon?

How is succession initiated? What dynamics can be observed in succession?
What is organism address and profession?

Who gave these definitions to the organism?

What kinds of ecological succession do you know?

. What is successional dynamics?

10 How many factors of ecological groups do you know?

11. What is a biotope?

12. What specific abiotic substances the factors do include?

13. What are natural disasters?

14. What do the biogeochemical cycles guarantee?

B w
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3.5 Inougioyanvne 3a60anns.

[HaiBiMyanpHE 3aBAaHHS 1€ TMCHMOBHUH TIepekiaa 1BoX BUAIB TekcTiB (25 000
Jp.3HAKIB).

1. Tlepexnan Texcry 3a gpaxom (15 000 ap.3HakiB). JlJjist Horo BUKOHAHHS
CTY/JICHT TTOBUHEH:
1. CamocTiitHO BUOpaTH TEKCT 3a (paxoM (HayKoBa CTATTA Y HAYKOBOMY
KypHam).
2. Hanncatn cicok He3HAWOMHUX ISl HROTO CJIIB Ta iX MepeKia.
3. Hanucatu nucbMOBUI NEpeKiIaj TEKCTY.
4.V 3a3HaueHUl TEpMIH 3/1aTU 3aBJIaHHA (AHTJIHUCHKHUI TEKCT, CIHCOK
HE3HAMOMUX CIIiB, IepeKyaa) BukiIaaady. CTyaeHT 000B’ I3KOBO MOBUHEH
BKAa3aTH JKEPEJIIO, 3 SIKOTO B3ATUMN MEPEKIATECHUN TEKCT.

2. Ilepexnan cycninpHO-TIomiTH4HOT Jiekciku (10 000 ap.3HakiB). s iioro
BUKOHAHHS CTYJEHT [IOBUHEH:
1. CamocTiitHO BUOpaTH TEKCT 3a (paxoM (CTaTTs 3 aHIJIOMOBHOI Ta3€TH).
2. Hanucatu cicok He3HAHOMUX JJIsl HBOTO CJIiB Ta iX MepeKIIa.
3. Hanucatn nucbmMoBUi NepeKnaj TEKCTY.
4.V 3a3HauyeHHUl TEpMIH 3/1aTHU 3aBJAHHA (AHIJINCHBKUI TEKCT, CIHCOK
HE3HaOMUX CJiB, epekiaz) Bukiagady. CTyaeHT 000B’13KOBO MOBUHEH
BKAa3aTH JIKEPEIIO, 3 IKOTO B3ATUH MEPEKIIAICHUN TEKCT.
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4. IMTAHHA 10 3AXOAIB IIOTOYHOT' O, IIICYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'paMaTuyHi 3aBAaHHS 10 MOJIYJIbHOI KOHTPOJIBHOI poOoTH Moayiss 3M-I11.

Module control work Ne 1

[2,c. 20— 24], [3, ¢. 4 — 23]

I. Grammar Test (Yacu I'pymm Indefinite)

Put the right form of the verb:

1.

2.

9.

You are a great cook! This cake (to taste) wonderful as usual. [2, c. 21 — 22],
[3,c.4-13]

The students (to ask) not to be late for their classes. [2, c. 21-22, 32], [3, c. 4
—13]

My father is sure bicycles (to use) as the most popular city transport in
twenty years' time. [2, . 23, c. 32], [3, c. 19 — 23, c. 47 — 55]

It (to announce) in London that morning that the British Oil Corporation had
discovered oil under the sea near the Welsh coast. [2, c. 22 — 23, c. 32], [3,

c. 13-19]

A new hospital (to build) in our neighbourhood next spring. [2, c. 23 — 24,
c.32], [3,c. 1923, c. 47 — 55]

They (to finish) the work at the end of the week. [2, c. 23 —24], [3, c. 19 — 23]
The accident (to happen) while they were driving on the highway. [2, c. 22],
[3,c. 13-19]

As long as | am head of this company, | (to handle) not all the business. [2,
c. 23], [3,c. 19 - 23]

The desire for fame (to make) men work hard and does not let them rest till
the goal is gained. [2, c. 21 — 22], [3, ¢. 4 — 13]

10.Yesterday, when he (to open) the door, he (to understand) that he (to do) it

with a wrong key. [2, c. 22 — 23], [3, ¢. 13 - 19]

11.She (not to see) me when | (to come) into the room. [2, c. 22 — 23], [3, ¢c. 13—

19]

12.As a rule he (to translate) two articles a week. [2, c. 21 —22], [3, ¢. 4 — 13]
13.Why you (not to put) your coat on yesterday? [2, c. 22 — 23], [3, c. 13 - 19]
14.He (to play) football every day. [2, c. 21 — 22], [3, c. 4 — 13]

15.Last year | (to take) by my parents to the South. [2, ¢. 22 — 23, ¢. 32], [3, c. 13

19, ¢. 47 - 55]

16.Tomorrow we (to pass) the examination. [2, c. 23-24], [3, c. 19 — 23]
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17.He usually (to travel) by train. [2, c. 21 —22], [3, c. 4 — 13]

18.He filled in his name, signed the contract and (to give) it to the secretary. [2,
c.22-23],[3,c. 13-19]

19.We (to stay) in that city twice in 2018. [2, c. 22 — 23], [3, c. 13- 19]

20.How often does Nick go to the swimming pool? — He (to go) to the swimming
pool every day. He likes swimming. [2, c. 21 —22], [3, c. 4 — 13]

21.After supper my sister (to go) for a walk. [2, c. 21 — 22], [3, c. 4 — 13]

22.Great Britain (to lie) in the eastern part of the Atlantic Ocean. [2, c. 21 — 22],
[3,c.4-13]

23. The teacher (to explain) a new rule yesterday. [2, c. 22 — 23], [3, ¢. 13 — 19]

24.We (to meet) them at the railway station tomorrow. [2, 23 — 24], [3, ¢. 19 —
23]

25.The sea (to surround) the British Isles. [2, ¢c. 21 —22], [3, ¢c. 4 — 13]

26.Yesterday we (to write) a dictation. [2, c. 22 — 23], [3, c. 13 - 19]

27.She (to give) you a good advice next week. [2, 23 — 24], [3, c. 19 — 23]

28.The pupils of our form (to go) in for sport. [2, ¢c. 21 —22], [3, ¢. 4 — 13]

29.The children (to spend) the whole day in the park. [2, c. 22 — 23], [3, c. 13 —
19]

30.They (to go) to Poland next month. [2, 23 — 24], [3, c. 19 — 23]

31.Many tourists (to come) to our town in summer. [2, c. 21 — 22], [3, c. 4 — 13]

32.We (to reach) the village before dark. [2, c. 22 — 23], [3, ¢. 13 - 19]

33.My brother (to be) on leave next spring. [2, 23 — 24], [3, ¢. 19 — 23]

34.He (to like) to write long letters. [2, ¢c. 21 — 22], [3, ¢. 4 — 13]

35.The student (to pass) the examination successfully. [2, ¢c. 22 — 23], [3, ¢. 13 —
19]

36.Tomorrow they (to be) far from here. [2, 23 — 24], [3, c. 19 — 23]

37.The Severn (to be) the longest river in Great Britain. [2, ¢. 21 —22], [3,¢. 4 —
13]

38.The pupils of our form (to go) to the museum last week. [2, c. 22 — 23], [3, c.
13-19]

39.He (to go) to the post-office to wire to his mother tomorrow. [2, 23 — 24], [3,
c. 19 - 23]

40.Usually I (to clean) my room on Saturday. [2, c. 21 — 22], [3, c. 4 — 13]

41.1 (to go) to England last year. [2, ¢c. 22 — 23], [3, ¢. 13 - 19]

42.1 (to give) her a valuable present to her next birthday. [2, 23 — 24], [3, c. 19 —
23]

43.Shakespeare's plays and poems (to be) the monument of a remarkable genius.
[2,c.21-22],[3,c.4—-13]

44 We (to do) the work in time. [2, ¢. 22 — 23], [3, ¢. 13— 19]

45.1t (to rain) hard in the afternoon tomorrow. [2, 23 — 24], [3, ¢. 19 — 23]
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46.The sun (to rise) in the East. [2, ¢c. 21 — 22], [3, ¢. 4 — 13]

47.She (to tell) us the truth. [2, c. 22 — 23], [3, c. 13— 19]

48.You (to see) a beautiful park near the lake. [2, 23 — 24], [3, c. 19 — 23]

49.Water (to freeze) at zero. [2, c. 21 - 22], [3, ¢c. 4 — 13]

50.1 (to speak) and write English perfectly. [2, c. 21 —22], [3, c. 4 — 13]

51.1 (to be) glad to see you again. [2, 23 — 24], [3, c. 19 — 23]

52.1 (to hear) somebody's voice in the distance. [2, c. 21 —22], [3, ¢c. 4 — 13]

53.My friend (to learn) Shakespeare's poem by heart. [2, c. 22 — 23], [3, c. 13 -
19]

54.She (not to clean) the flat in the evening. [2, 23 — 24], [3, ¢. 19 — 23]

55.The pupils (to write) dictations twice a week. [2, c. 21 — 22], [3, ¢c. 4 — 13]

56. We (to work) in the garden two days ago. [2, ¢. 22 — 23], [3, ¢. 13 - 19]

57. (to plant) they a lot of trees in spring? [2, 23 — 24], [3, c. 19 — 23]

58. The librarian (to give) us interesting books and magazines every month. [2,
c.21-22],[3,c.4-13]

59. There (to be) flowers in her hand. [2, c. 22 — 23], [3, ¢. 13 — 19]

60. At what time (to get up) you tomorrow? [2, 23 — 24], [3, c. 19 — 23]

[1, c. 13-14]
I1. Fill the gaps:
Environmental Science

Environmental science isan 1) academic field that integrates
physical and biological sciences (including physics, chemistry, biology, soil
science, geology, and geography) to the study of the 2) , and the
solution of environmental problems. Environmental science provides an
integrated, quantitative, and interdisciplinary approach to the study of

environmental 3) . Related areas of study include environmental
studies and environmental engineering. Environmental studies incorporate more
of the social sciences for 4) human relationships, perceptions and

policies towards the environment. Environmental engineering focuses on design
and technology for improving environmental quality. Environmental scientists
work on subjects like the understanding of earth processes, evaluating alternative
energy systems, pollution control and mitigation, natural resource management,
and the effects of global 5) . Environmental issues almost always
include an interaction of physical, chemical, and biological 6) :
Environmental scientists bring a system 7) to the analysis of
environmental problems. Key elements of an effective environmental scientist
include the ability to relate space, and time relationships as well as quantitative
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8) . Environmental science came alive as a substantive, active field
of scientific investigation in the 1960s and 1970s driven by a) the need for a multi-
disciplinary approach to analyze 9) environmental problems, b) the
arrival of substantive environmental laws 10) specific
environmental protocols of investigation and c) the growing public awareness of
a need for action in addressing environmental problems.

A) Analysis, B) systems, C) complex, D) approach, E) requiring, F) processes,
G) climate change, H) understanding, ) interdisciplinary, J) environment.

4.2. I'pamatuyHi 3aBJaHHS 10 MOJAYJIbHOI KOHTPOJIBHOI poOoT Moayst 3M-T12.

Module control work Ne 2
[2, c. 24 -26], [3, c. 23 -30]
I. Grammar Test (Uacu I'pynu Continuous)

Put the right form of the verb:

1. I cut my finger when | (to peel) the potatoes. [2, c. 24 — 25], [3, c. 26 — 28]

2. Our flat (to paint) at the moment, so it doesn't look its best. [2, c. 24, c. 32],
[3, c. 23 - 26, c. 47 -55]

3. When the Smiths came they (to convince) the whole hour that Paul himself
had broken the window at his house because he wanted to make them think
that a burglar had stolen his valuable stamp collection. [2, c. 24-25], [3, c. 26
— 28]

4. Where are you going? | (to speak) with you. [2, c. 24], [3 c. 23 — 26]

5. My brother will be absent. He (to prepare) for his exam at this time
tomorrow. [2, c. 25], [3 c. 28 — 30]

6. Steven (to talk) with Ann when | saw them in the Central Park. [2, c. 24-25],
[3, c. 26 — 28]

7. He was getting the best care and treatment in the hospital, and he (to
monitor) night and day. [2, c. 24-25, c. 32], [3, c. 26 — 28, c. 47 — 55]

8. The new computer system (to install) at the moment. [2, c. 24-25, c. 32], [3,
c. 23— 26, c. 47 -55]

9. We can’t take the car: it (to repair) in the garage. [2, c. 24, c. 32], [3, ¢. 23 -
26, c. 47 —55]

10.Nowadays people (to blame) their circumstances for what they are. [2, c. 24-
25], [3 c. 23 - 26]
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11.When I looked out of the window, I saw that it (to snow) and everything was
covered with snow. [2, c. 24-25], [3, c. 26 — 28]

12.Somebody (to talk) in the next room? — No, nobody (to talk). My son (to
watch) television now. [2, c. 24], [3 c. 23 — 26]

13.What he (to do) here? — He (to wait) for his friend. [2, c. 24], [3 c. 23 — 26]

14.They (to play) chess the whole evening. [2, c. 24-25], [3, c. 26 — 28]

15.At two o'clock tomorrow we (to take) our French lesson. [2, c. 25], [3, c. 28 —
30]

16.Yesterday | returned home at eight o' clock: it (to get) dark and (to rain) at
the time. [2, c. 24-25], [3, c. 26 — 28]

17.Tomorrow he still (to work) when | come home. [2, c. 25], [3, c. 28 — 30]

18.We are very busy now. We (to discuss) a very important question. [2, c. 24],
[3 c. 23 - 26]

19.She (to sit) in the armchair and (to read) an interesting book now. [2, c. 24],
[3 c. 23 -26]

20.You (to work), when | phoned you last night? -Yes, | (to work). [2, c. 24-
25], [3, c. 26 — 28]

21.Where is Anna? She is in the library. She (to prepare) her report for
tomorrow. [2, c. 24-25], [3, c. 23 — 26]

22.1t (to be) raining hard now. [2, c. 24 — 25], [3, c. 23 — 26]

23.We (to be) passing our English examination at this time tomorrow. [2,
c. 25— 26], [3, c. 28 —29]

24.Look! The bus (to come) up. [2, c. 24 — 25], [3, c. 23 — 26]

25.1 (to be) playing the violin when she came in. [2, c. 24-25], [3, c. 26 — 28]

26.She (to be) preparing dinner at 3 o'clock. [2, c. 25 — 26], [3, c. 28 — 30]

27.What (to do) the children now? [2, c. 24 — 25], [3, c. 23 — 26]

28.She (to be) writing a report in the library at that time. [2, c. 24-25], [3, c. 26
— 28]

29.1 (to be) cleaning my room when you come. [2, c. 25 — 26], [3, c. 28 — 30]

30.They (to speak) in the street now. [2, c. 24 — 25], [3, c. 23 — 26]

31.The doctor (to be) examining the patients at 10 o'clock yesterday. [2, c. 24-
25], [3, c. 26 — 28]

32.He (to be) taking a walk in the park at 10 o'clock. [2, c. 25 — 26], [3, c. 28 —
29]

33.They (to play) football there now. [2, c. 24 — 25], [3, c. 23 — 26]

34.Their daughter (to be) going to be a nurse. [2, c. 24 — 25], [3, c. 23 — 26]

35.They (to be) flying to America at this time on Saturday. [2, c. 25 — 26], [3,
c. 28 -29]

36.Why she (to cry) now? [2, c. 24 — 25], [3, c. 23 — 26]

37.They (to be) talking about that day's weather. [2, c. 24-25], [3, . 26 — 28]
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38.1 (to be) skating the whole day tomorrow. [2, c. 25 — 26], [3, c. 28 —30]

39.Where you (to go) now? [2, c. 24 — 25], [3, c. 23 — 26]

40.We (to be) preparing for the English examination the whole day. [2, c. 24-
25], [3, c. 26 — 28]

41.We (to be) working hard this time tomorrow. [2, c. 25 — 26], [3, ¢. 28 — 30]

42.(to be) you answering the teacher's questions now? [2, ¢. 24 — 25], [3, ¢. 23 -

26]

43.My brother (to speak) over the telephone when | came in. [2, c. 24-25], [3,
c. 26 — 28]

44.She (to be) taking a music lesson at 10 o'clock on Sunday. [2, c. 25 — 26], [3,
c. 28 — 30]

45.(to be) your friends playing chess now? [2, c. 24 — 25], [3, c. 23 — 26]

46.The mother (to be) knitting a pullover when her little son broke a new cup.
[2, c. 24-25], [3, c. 26 — 28]

47.They (to build) a new club when you are in the country in summer. [2,
c. 25-26], [3, c. 28 — 30]

48.(to be) your father (to look) through the newspapers now? [2, c. 24 — 25], [3,
c. 23— 26]

49.(to be) you having tea when your parents came home from work? [2, c. 24-
25], [3, c. 26 — 28]

50.The boys (to play) football when you come home. [2, c. 25 — 26], [3, c. 28 —
30]

51.(to be) the dog barking in the yard now? [2, c. 24 — 25], [3, c. 23 — 26]

52.(to be) you (to do) your home task when they came home? [2, c. 24-25], [3,
c. 26 — 28]

53.He (to ski) at 5 o'clock tomorrow. [2, c. 25 — 26], [3, ¢. 28 —30]

54.(to be) you doing your homework now? [2, c. 24 — 25], [3, c. 23 — 26]

55.What (to be) you doing when your parents came home from work? [2,
C. 24 -25], [3, c. 26 — 28]

56.What you (to do) at 10 a.m. tomorrow? [2, c. 25 — 26], [3, ¢. 28 —30]

57.(to be) the sun (to shine) in the sky? [2, c. 24 — 25], [3, c. 23 —26]

58.1t (to rain) at that time on Sunday. [2, c. 24-25], [3, c. 26 — 28]

59.What your friend (to do) when you come to him tomorrow? [2, c. 25 — 26],
[3, c. 28 —29]

60.(to be) you (to listen) to the radio now? [2, c. 24 — 25], [3, c. 23 —26]
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[1, c. 15]
I1. Fill the gaps:

The cycle of biogenic elements and primary production in the principal
types of and ecosystems have been studied. It has been demonstrated that
1) volume of primary production on land is approximately double
that of the total production of the world ocean and that the productivity of tropical
forests is particularly high. The earth’s surface is photographed in the visible and

infrared regions of the spectrum from spacecraft in order 2) the
biomass reserves in terrestrial ecosystems. Research on the utilization of organic
matter synthesized by autotrophs has shown that on land only 3) of

organic matter is used directly by herbivorous animals, while the bulk of it, in the
form of dead plant tissue, is consumed by saprophagous and saprophytic
organisms. In addition to feeding links, other links exist between organisms in
ecosystems, particularly those involving metabolic products released by
organisms into the 4) . They are being actively studied in both
terrestrial and 5) ecosystems.

The study of the biosphere as a whole is particularly important,
6) the determination of primary production and decomposition
worldwide and the 7) of biogenic elements. These problems can
only 8) through the concerted efforts of scientists from various
countries.

9) of the phenomena studied by modern ecology explains its
extensive ties with numerous natural and humanistic sciences. Population
ecology 10) genetics, physiology, ethology, biogeography,
taxonomy, and demography.

A) Global cycle, B) environment, C) involves, D) a small portion, E) the total,
F) to evaluate, G) be solved, H) the diversity, 1) aquatic, J) including
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4.3. I'pamaTryH1 3aBJaHHS 10 MOYJIBHOI KOHTPOJIbHOI poboTu Moty 3M-I13.

Module control work Ne3

[2, c. 26 — 28], [3, c. 30 — 40]

I. Grammar Test (Yacu I'pynu Perfect)

Put the right form of the verb:

1.
2.

9.

Next month I (to know) Rick for twenty years. [2, c. 27-28], [3, c. 38 — 40]
Alan and Chloe are both down with the flu. Thank God I (not to caught) it
from them. [2, c. 26-27], [3, c. 30 — 35]

After they (to enter) the church, they stood quietly for a moment, adjusting
their eyes to the dim light. [2, c. 27], [3, c. 35— 38]

By the time we got to the shopping center it (to close). [2, c. 27, c. 32], [3,
c. 3538, c. 47-55]

Don’t worry! By the time we meet again, all your problems (to solve). [2, c.
27-28, 32], [3, ¢. 30 — 35, c. 47-55]

A machine (to invent) which will make you invisible for 48 hours. How would
you want to spend these two days? [2, c. 26-27, c. 32], [3, c. 38 — 40, c. 47—
55]

You are a human dynamo, | (to see) never you waste a minute. [2, c. 26 — 27],
[3, c. 30 — 35]

The tourists hope that the tornado (to finish) before they arrive in California.
[2, c. 27-28], [3, c. 38 — 40]

When | came back home, my family (to have) already had dinner and were
now watching the film. [2, c. 27], [3, c. 35 — 38]

10.The 10.30 flight to Greece (to delay). [2, c. 26-27, 32], [3, c. 30 — 35, c. 47—

55]

11.The waiter served the food, which (to cook) by the best chef in Paris. [2, c. 27,

32], [3, c. 35 — 38, c. 47-55]

12.1 hope that the report (to write) by 5 o’clock tomorrow. [2, ¢. 27-28, ¢. 32], [3,

c. 38 -40, c. 47-55]

13.You (to do) your homework by seven o’clock? [2, c. 27-28], [3, c. 38 — 40]
14.Helen got off the bus and walked into the bank when she realized that she (to

leave) her handbag on the bus. [2, c. 27], [3, c. 35 — 38]

15.1 (to be) to London this year. [2, c. 26-27], [3, ¢. 30 — 35]
16.They (not to finish) their work yet. [2, c. 26-27], [3, c. 30 — 35]
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17.Your mother already (to come)? [2, c. 26-27], [3, c. 30 — 35]

18.When she got to the shop, it (to close). [2, c. 27], [3, c. 35 — 38, c. 47-55]
19.Nick (return) from office by seven o'clock. [2, c. 27], [3, c. 35 — 38]

20.We (to build) a new house by the end of the year. [2, c. 27-28], [3, c. 38 — 40]
21.She (to do) already the work. [2, c. 26 — 27], [3, c. 30 — 35]

22.1 had to buy a new pen because | (to lose) the old one. [2, c. 27], [3, c. 35—

38]

23.He (to pass) his examinations before you return from Kyiv. [2, ¢. 30 — 31], [3,
c. 38 — 40]

24.The postman (to bring) us two letters from our relatives. [2, c. 26 — 27], [3,
c. 30 — 35]

25.The last electric train (to go) when we got to the station. [2, c. 27], [3, ¢. 35—
38]

26.The expedition (to leave) for the North by April. [2, ¢. 30 —31], [3, c. 38 —40]

27.1 (to wash) just the dishes. [2, c. 26 — 27], [3, ¢. 30 — 35]

28.After | (to leave) for work I remembered that | (to forget) to ring you up. [2,
c. 27], [3, c. 35 - 38]

29.1 (to give) the final answer by three o'clock. [2, c. 30 — 31], [3, c. 38 — 40]

30.We (to write) a long dictation. [2, c. 26 — 27], [3, ¢. 30 — 35]

31.We (to collect) our things and got into the bus before it started raining. [2,
c. 27], [3, c. 35 - 38]

32.She (to look) up the new words in the dictionary before you come. [2, c. 30 —
31], [3, c. 38 — 40]

33.Ann (to leave) just the house. [2, c. 26 — 27], [3, ¢. 30 — 35]

34.What you (to do) before you left the house? [2, c. 27], [3, c. 35 — 38]

35.We (to leave) the Institute by five o'clock tomorrow. [2, ¢. 30 — 31], [3, c. 38
—40]

36.The children (to clean) already the room. [2, ¢c. 26 — 27], [3, ¢. 30 — 35]

37.By what time you (to do) your homework yesterday? [2, c. 27], [3, c. 35 — 38]

38.1 (to return) the book to the library by this time on Sunday. [2, c. 30 — 31], [3,
c. 38 — 40]

39.1 (to show) him my collection of stamps. [2, c. 26 — 27], [3, c. 30 — 35]

40.What did you do after you (to do) your homework? [2, c. 27], [3, c. 35 — 38]

41.The girls (to do) the room before their mother comes home. [2, ¢. 30 — 31], [3,
c. 38 — 40]

42.The teacher (to open) the window to air the room. [2, c. 26 — 27], [3, ¢. 30 —
35]

43.What you (to do) before you went to bed? [2, c. 27], [3, c. 35 — 38]

44.My elder brother (to translate) the text by 10 o'clock. [2, ¢. 30 — 31], [3, c. 38
—40]
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45.The mother (not to prepare) breakfast yet. [2, c. 26 — 27], [3, c. 30 — 35]

46.Where you (to live) before your family moved to this place? [2, c. 27], [3,
c. 35-38]

47.We (to prepare) supper before you come from work. [2, ¢. 30 — 31], [3, c. 38
—40]

48.1 (not to do) my home task yet. [2, c. 26 — 27], [3, ¢. 30 — 35]

49.Last week we discussed the performance which we (to see) at our drama
theatre. [2, c. 27], [3, c. 35— 38]

50.1 (to write) the report by this time tomorrow. [2, ¢. 30 — 31], [3, c. 38 — 40]

51.Ann (not to be) to Kyiv yet. [2, c. 26 — 27], [3, ¢. 30 — 35]

52.The mother (to prepare) dinner by 3 o'clock. [2, c. 27], [3, ¢. 35— 38]

53.The pupils of our form (to pass) the exam in English by 12 o'clock. [2, ¢. 30 —
31], [3, c. 38 — 40]

54.She (not to learn) this poem by heart yet. [2, ¢. 26 — 27], [3, c. 30 — 35]

55.My friend told me a lot of interesting he (to see) in London. [2, c. 27], [3,
c. 35-38]

56.The teacher (to check) up our tests by that time. [2, ¢. 30 — 31], [3, c. 38 —40]

57.1 (not to finish) my work yet. [2, c. 26 — 27], [3, c. 30 — 35]

58.She showed me the new dress she (to sew) herself. [2, c. 27], [3, c. 35 — 38]

59.The expedition (to leave) for the South by September. [2, ¢. 30 — 31], [3, c. 38
— 340]

60.She (to write) the test already. [2, c. 26 — 27], [3, ¢. 30 — 35]

[1,c. 17]
1. Fill the gaps:

Nitrogen is also required by all organisms but cannot be used by most in
the gaseous form. Nitrogen fixation, the conversion of N2 gas into a biologically

1) , occurs in some species of bacteria and cyanobacteria or may be
caused by lightning.
Atmospheric gases are important in 2) the climate and the

light environment. Absorption of electromagnetic radiation by the atmosphere
determines the spectrum of light reaching the Earth's surface. Absorption and
reflectance of infrared radiation by 3) such as C02 and water vapor
regulate temperature.

Among other environmental factors determining the range and distribution
and form of organisms are mechanical stimuli such as wind or water
4) , and the presence of metals, inorganic nutrients, and toxins in
the air, soil, or food.
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The biotic environment of an individual is 5) of members of
the same or other species. Intraspecific interactions involve the need to breed with
other individuals, to gain protection through living in a group, and to compete for
6) such as food, light, nutrients, and space.

Humans alter their environment in ways that exceed the impact of all other
organisms. For example, the 7) of greenhouse gases into the
atmosphere contributes to 8) over the entire planet. This in turn has
Impacts on the distribution of all other species. The release of pollutants into the
environment brings organisms into contact with stresses to which they were not
9) exposed. This the evolution of new varieties, eventually perhaps
new 10) , adapted to the polluted environments.

A) Greenhouse gases, B) previously, C) resources, D) made up, E) movement,
F) species, G) determining, H) release, 1) useful form, J) climate alterations.

4.4. I'paMaTryH1 3aBAAaHHS 10 MOJIYJIbHOI KOHTPOJIBHOI poOoTH Moyt 3M-I14.

Module control work Ne4

[2, c. 24 -26], [3, c. 40 — 44]

I. Grammar Test (Uacu I'pynu Perfect Continuous)
Put the right form of the verb:

1. A fine rain (to fall) steadily since six o’clock and there is a dark mist on the
river. [2, c. 28-30], [3, c. 40 — 43]

2. Andrew, who is English, (to live) in New York for seven years when we
met. [2, c. 30], [3, c. 43 — 44]

3. He said that he (to wait) his article for 3 days when I arrived. [2, c. 30], [3,
C. 43 —44]

4. He said that he (to write) a letter for 2 hours when | came. [2, c. 30], [3,
C. 43 —44]

5. Emma, who (to listen) attentively, knew with absolute certainty that he was
speaking the truth. [2, c. 30], [3, c. 43 — 44]

6. Next year | (to live) in Kyiv for thirty years. [2, ¢. 30-31]

7. She (choose) some dairy products: butter, cheese, milk and cream for 20
minutes. [2, c. 28-30], [3, c. 40 — 43]
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8. A surgeon felt tired because he (to work) hard all day. [2, c. 30], [3,
c. 43 - 44]

9. My father (to work) at this theatre for twenty years by 2021. [2, c. 30-31]

10.My mother (to read) a cookbook for a month. [2, c. 28-30], [3, c. 40 — 43]

11.1 (to wait) for a bus for half an hour before it arrived. [2, c. 30], [3, c. 43 —
44]

12.She (to wait) for this comedy for a month before it is on the repertoire of
the theatre. [2, c. 30-31]

13.A chemist (to make) a medicine for an hour before it was ready. [2, c. 30],
[3, c. 43 — 44]

14.We (to talk) about fruits, which are sold at the greengrocery shop for 15
minutes. [2, c. 28-30], [3, c. 40 — 43]

15.At the market my mother (to choose) potatoes, carrots, beetroots, onion,
tomatoes, cucumbers and cabbage for an hour. [2, c. 28-30], [3, c. 40 — 43]

16.His father (to work) at this hospital for 25 years before he retired. [2, c.
30], [3, c. 43 — 44]

17.1 (to work) on this report about our famous actors for two hours before my
sister comes. [2, c. 30-31]

18.We (to play) tennis for three hours already yesterday when it started raining.
[2, c. 30], [3, c. 43 — 44]

19.Tom (to read) books about the theatre for several years before he becomes
an expert. [2, c. 30-31]

20.1 (to look for) this journal since the very morning. [2, c. 28 — 30], [3, c. 40
—43]

21.She (to write) a composition for an hour already. [2, c. 28 — 30], [3, c. 40 —
43]

22.The young man (to work) at the laboratory for two years before he decided
to enter the University. [2, c. 30], [3, c. 43 — 44]

23.How long your sister (to study) at school? [2, c. 28 — 30], [3, c. 40 — 43]

24.1 (to read) an interesting book since | returned home. [2, c. 28 — 30], [3,
c. 40 -43]

25.We (to pack) up our things for two hours when it was time to go to the
railway station. [2, c. 30], [3, c. 43 — 44]

26.How long you (to do) these exercises? [2, c. 28 — 30], [3, c. 40 — 43]

27.My brother (to work) at English translation since the very morning. [2,
c. 28 -30], [3, c. 40 — 43]

28.The scientist (to work) at the experiment for about a year before the problem
was solved. [2, c. 30], [3, c. 43 — 44]

29.1t (to rain) since the very morning? [2, c. 28 — 30], [3, c. 40 — 43]

30.He (to suffer) from a headache all day long. [2, c. 28 — 30], [3, c. 40 — 43]
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31.They (to sail) for about a month when they saw a small island. [2, c. 30],
[3, c. 43 —44]

32.Have (to live) in this town for 5 years? [2, c. 28 — 30], [3, c. 40 — 43]

33.We (to gather) mushrooms ever since sunrise. [2, ¢. 28 — 30], [3, c. 40 —43]

34.1t (to snow) all day when | left home. [2, c. 30], [3, c. 43 — 44]

35.1 (to translate) this difficult article for two hours before you come. [2, c. 30
—31]

36.1 (to listen) to the music since 5 o'clock. [2, c. 28 — 30], [3, c. 40 — 43]

37.1 (to dust) the room for half an hour when my mother came home. [2, c. 30],
[3, c. 43 — 44]

38.He (to skate) with his friends for more than an hour before his parents come
home. [2, c. 30 — 31]

39.My friend (to train) his dog for 3 years already. [2, c. 28 — 30], [3, c. 40 —
43]

40.She (to wait) for forty minutes before the taxi came. [2, c. 30], [3, c. 43 —
44]

41.They (to listen) to the music for some time when you ring them up. [2, c.
30 - 31]

42.The gardener (to sort) the apples since morning. [2, c. 28 — 30], [3, ¢. 40 —
43]

43.The girl (to listen) to the music for two hours before her brother brought her
an interesting book from the library. [2, c. 30], [3, c. 43 — 44]

44.\We (to travel) by sea for several weeks before you join us. [2, ¢c. 30 — 31]

45.The children (to play) football since the mother came home. [2, c. 28 — 30],
[3, c. 40 —43]

46.What she (to do) for two hours when her friend came to her? [2, c. 30], [3,
C. 43 —44]

47.The young man (to make) the plan of the journey for some hours by 6
o'clock in the evening. [2, c. 30], [3, c. 43 — 44]

48.My elder brother (to play) football since the childhood. [2, c. 28 — 30], [3,
c. 40 —43]

49.She (to read) a book for an hour before her mother came home. [2, c. 30],
[3, c. 43 — 44]

50.She (to listen) to the music for 40 minutes before her brother comes home
from school. [2, c. 30 — 31]

51.The boy (to do) his homework for 2 hours already. [2, c. 28 — 30], [3, c. 40
—43]

52.How long you (to learn) English? [2, c. 28 — 30], [3, c. 40 — 43]

53.She (to listen) to the music for some time by 12 o'clock. [2, ¢. 30 — 31]

54.The pupils (to write) a dictation for 40 minutes. [2, c. 28 — 30], [3, c. 40 —
43]

55.How long you (to read) this book? [2, c. 28 — 30], [3, c. 40 — 43]

56.0ur family (to live) in this house for 10 years. [2, c. 30 — 31]
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57.My mother (to prepare) dinner since 11 o'clock. [2, c. 28 — 30], [3, c. 40 —
43]

58.Do you play chess? How long you (to play) it? [2, c. 28 — 30], [3, c. 40 —
43]

59.They (to build) this bridge by the end of the year. [2, c. 30 — 31]

60.The girls (to watch) TV since they came home. [2, c. 28 — 30], [3, c. 40 —

43]
[1, c. 16]
I1. Fill the gaps:

Environment is 1) of all external factors, both biotic (living)
and abiotic (non-living), to which an organism is exposed. Biotic factors include
influences by members of the same and other species on 2) and

survival of the individual. Primary abiotic factors are light, temperature, water,
atmospheric gases, md ionizing radiation, influencing the form and
3) of the individual.

For 4) environmental factor, an organism has a tolerance
range, in which it is able to survive. The intercept of these ranges constitutes the
ecological niche of the organism. Different individuals or species have different
tolerance ranges for particular environmental factors — this variation
5) the adaptation of the organism to its environment. The ability of
an organism to modify its tolerance of certain environmental factors in response
to a change in them represents 6) of that organism.

The spectrum of electromagnetic radiation reaching the Earth's surface is
determined by the absorptive 7) of the atmosphere. Biologically,
the most important spectral range is 300-800 nanometers, incorporating
ultraviolet, visible, and infrared radiation. Visible light provides the energy
source for most forms of life. Light absorbed by pigment molecules (chlorophylls
and carotenoids) is converted into chemical energy through 8)
Light availability is especially important in determining the distribution of plants
Photosynthetic organisms can 9) within a wide range of light
intensities. Full sunlight in the tropics is around 2000 photons. Photosynthetic
organisms have survived in 10) ¢ where the mean light is as low as 0.005% of
this value.

A) The plasticity, B) represents, C) the sum, D) photosynthesis, E) exist, F) each,
G) the development, H) locations, 1) function, J) properties
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4.5. TecToBi 3aB1aHHS /10 32J1iKOBOI KOHTPOJILHOI POOOTH.

[2, c. 20 - 32, 61], [6, c. 10 — 66]

Credit test

1 term

Marictpu. 3aaikoBa pooora I kypce I cemectp
Open the brackets, using the verb in the right tense form:

1. By next morning, the snow that began in the night (to turn) into a blizzard so
thick that the last class of the term was cancelled. [2, c. 27]

2. Most companies (to limit) severely their dumping of pollutants. [2, c. 23]
3. If you are successful, people (to forgive) you practically everything. [2, c. 23]
4. Customers (to advise) to buy their tickets in advance. [2, c. 21-22, 32]

5. When they got to their dacha, they discovered that water (to leak) through the
roof. There were pools on the floor. [2, c. 30]

6. On a clear day, you (to see) the shores of Haiti and Cuba from the summit of
Blue Mountain Peak. [2, c. 23]

7. | placed the tray in the middle of the kitchen table and (to begin) to
methodically chop an egg. [2, c. 22-23]

8. Will you (to arrange) everything by tomorrow? [2, c. 27-28]

9. English people say that you (to hang) the horseshoe with its ends up, lest good
luck should fall out. [2, c. 21-22]

10. We (to run) out of sugar. Ask Mrs. Smith to lend us some. [2, c. 26-27]

11. Will you (to use) till the computer when | come back to the office after lunch?
[2, c. 25]

12. This event (not to forget) very quickly. [2, c. 23, 32]
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13. Many new houses (to build) in our town nowadays. [2, c. 24-25, 32]
14. The guard noticed at once that the safe (to break). [2, c. 27, 32]

15. When Ann turned on the television, the weatherman (to give) the weekend
forecast for Europe. [2, c. 24-25]

16. The new tax (to introduce) last year, but the Parliament boycotted. [2, c. 27,
32]

17. She knew that with Frank in Venice, for a few days she (to shake) his
depression, and recharge his batteries completely. [2, c. 61-62]

18. Have you made any change in your life recently? What (to do) since that
change took place? [2, c. 28-30]

19. The votes (to count) by midnight? [2, c. 27-28, 32]

20. We were told that the teacher (to correct) our papers by the beginning of the
lesson. [2, c. 61]

21. The quietness of the house (to break) by the children’s driving their toy cars
on the floor. [2, c. 27, 32]

22. By the time the manager turns up, the customers (to wait) for him for several
hours. [2, c. 30-31]

23. He didn’t know where he (to take) at the moment. [2, c. 24-25, 32]

24. There was a fair in our little town and we put on red silk robes and painted
our faces red. | (to tell) people’s fortunes. [2, ¢. 22-23]

25. The new manager (to entrust) with a most difficult task. [2, c. 22-23, 32]
26. Wisdom (to come) with age. [2, c. 21-22]

27. The lost children just (to find) in the park. [2, c. 26-27, 32]

28. You (to look) so very healthy at the moment. [2, c. 24-25]

29. On Sunday morning, after she (to drink) a quick cup of coffee, Vanessa dialed
the Commodore Hotel. [2, c. 27]
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30. — Can I let you in on a little secret? — Why not? You (to tell) me your secrets
since you were eight. [2, c. 29-30]

31. Let us wait till the fax (to arrive). [2, c. 24-25]
32. | remembered that you (to promise) me to come in time. [2, c. 27]

33. For a second she (to hesitate) as if she were taking the last chance to refuse.
[2, c. 22-23]

34. 1 (to leave) some money in order to help them. [2, c. 23]

35. Two-piece swimsuits (to name) after a Pacific atoll on which hydrogen bombs
were detonated — a truly explosive and figurative word. [2, c. 21-22, 32]

36. | promised Emma | (to help) her to decorate the fur-tree. [2, c. 61]
37. Andrew feels all right now. He (to operate) on a month ago. [2, c. 22-23, 32]
38. When he is forty, he (to learn) English for twenty- five years. [2, c. 30-31]

39. The noise was caused by a dog, which (to chase) a cat through the garden. [2,
C. 24-25]

40. These data (to collect) by the end of the year. [2, c. 27-28, 32]
41. Yesterday | (to return) home late in the evening. [2, c. 22-23]
42. Nik already (to get) ticket for the concert? [2, c. 26-27]

43. What your farther (to do) at the moment? [2, c. 24]

44, She (to be) a typist for our firm since 2015 and she (to work) here for three
years. [2, c. 28-30]

45. 1 (to graduate) from the university five years ago. [2, c. 22-23]

46. She (to phone) you today in the morning. [2, c. 26-27]

47. When he (to get) to the station last week the train already to leave. [2, c. 22-
23, ¢. 27]

48. Look! He (to try) to find his watch. [2, c. 24]
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49. My sister just (to make) some sandwiches. [2, c. 26-27]

50. You ever (to be) to Iceland? [2, c. 26-27]

51. I don’t know where my sister (to be) now. [2, ¢. 21-22]

52. Maybe she (to sit) in the garden now. [2, c. 24-25]

53. Don’t tease the dog! It (to bite) you. [2, c. 23]

54. | think the weather (to be) fine tomorrow. [2, c. 23]

55. Look at this child. He (to notice) everything immediately. [2, c. 24-25]

56. She will give him your message tomorrow as soon as she (to see) him. [2, c.
23]

57. 1 met them when they (to run) round the park. [2, c. 24-25]
58. It is dark now. The sun not to rise yet. [2, c. 26-27]

59. The day before yesterday he told me that he (not to come) home by seven
o’clock on Sunday. [2, c. 27]

60. What you (to achieve) by the year 2025. [2, c. 27-28]

61. Look the emergency services (to remove) the sand which oil (to cover). [2,
C. 24-25, c. 26-27]

62. After he (to work) for ten hours, he came home and fell asleep. [2, c. 30]
63. You (not to read) my project yet? [2, c. 26]

64. In three years, his parents (to be married) for twenty years. [2, c. 28-30]
65. The number of cars (to rise) by fifty-eight per cent since 1973. [2, c. 26-27]

66. We are glad to know that our relatives (to arrive) by the New Year. [2, c. 27-
28]

67. My friend asked me to explain him a new rule because he (not to understand)
it. [2, c. 27]
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68.

69.

70.

71.

72.

73.

74,

75.

76.

77.

78.

79.

80.

Why my things (not to back) pack yesterday. [2, c. 22-23, c. 32-33]

The equipment just (to deliver). [2, c. 26-27, c. 32-33]

Our cafe (to visit) by a lot of people. [2, c. 21-22, c. 32-33]

This poem (to learn) by heart by me. [2, c. 24-25, c. 32-33]

His adventures (to describe) in his book. [2, c. 22-23, c. 32-33]

His decisions always (to approve) by her. [2, c. 21-22, c. 32-33]

He said his wallet (to steal) by somebody. [2, c. 27, c. 32-33]

The newspaper (to publish) at the moment. [2, c. 24-25, c. 32-33]

The agreement (to reach) by them tomorrow. [2, c. 27-28, c. 32-33]
The bicycle (to repair) by my farther at 7 o’clock. [2, c. 24-25, c. 32-33]
The dog already (to take) for a walk. [2, c. 26-27, c. 32-33]

All the books (to leave) at home by me yesterday. [2, c. 26-27, c. 32-33]

His honesty (to acknowledge) by all. [2, c. 22-23, c. 32-33].
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Il cemecTp

2. MPOT'PAMA HABYAJIbHOI JUCIUILJIIHU

2.2. Ilpaktrani moaydi | cemectpy

KinekicTs rogmna

Kon HazBa Moy Ta Tem aymutopri | CPC
3M- 12,5 17
15 | 1. a) The Ecosystem. Famine and Flood. 2.5 3
b) IMepeknan Tekcry 3a ¢paxom (8000 ap. 3HakiB) | 2,5 3
c) [lepeknaa CyciabHO-TMOTITAYHOTO TEKCTY 2,5 3
(2500 np. 3HAKIB)
d) Grammar: The Infinitive 4 4
2. MoaynbHa KOHTponbHA poboTa Ne 5 1 4
3M- 12,5 17
I16 | 1. a) Global Warming. Kyoto Revisited. 2,5 3
b) Ilepexnan Tekcry 3a paxom (8000 ap. 3HaKIB) 2,5 3
c) Ilepeknan cycniIbHO-MIOJITUYHOTO TEKCTY 2,5 3
(2500 np. 3HAKIB)
d) Grammar: The Gerund 4 4
2. MonaynsHa KOHTpoJibHA poboTa Ne 6 1 4
3M- 12,5 17
I17 | 1. a) Natural Wonders of the World. 2,5 3
b) Ilepexman Texcry 3a haxom (8000 ap. 3HAKIB) 2,5 3
c¢) Ilepeknan cycniIbHO-MIOJITUYHOTO TEKCTY 2,5 3
(2500 np. 3HAKIB)
d) Grammar: The Participle 4 4
2. MoaynbHa KOHTpoJibHA poboTa Ne 7 1 4
3M- 12,5 17
I18 | 1. a) Decision-making on the Solution of Ecological | 2,5 3
Problems.
b) ITepexman Tekcry 3a paxom (8000 ap. 3HaKIB) 2,5 3
c) Ilepeknan cycniIbHO-MIOJITUYHOTO TEKCTY 2,5 3
(2500 np. 3HAKIB)
d) Grammar: The Conditional Sentences 4 4
2. MoaynasHa KOHTposibHa poboTa Ne 8 1 4
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3M- 12,5 16
I19 | 1. a) Strategy of National Ecological Policy of 2,5 3
Ukraine Until 2020.
b) Ilepexman Texcry 3a haxom (8000 ap. 3HAKIB) 2,5 3
c) [lepeknan cycniibHO-MOMITUYHOTO TEKCTY 2,5 3
(2500 np. 3HAKIB)
d) Grammar: Indirect speech 4 3
2. MoaynbHa KOHTpoJibHA poboTa Ne 9 1 4
3M- 12,5 16
I110 | 1. a) State ecological monitoring. 2,5 3
b) Ilepeknan Tekcty 3a haxom (8000 ap. 3HAKIB) 2,5 3
c) Ilepekian cycniabHO-TIOTITHYHOTO TEKCTY 2,5 3
(2500 np. 3HAKIB)
d) Grammar: Subjunctive mood. Revision. 4 3
2. MonyapHa KoHTpoabHA podoTta Ne 10 1 4
Icriut 20
Pazowm: 75 120
KoHncynpTarmii:
1. Il’snoBa [3abenna KOpiiBHa, 3aB. kKad. iIHO3eMHUX MOB, K. (D1JIOJ. HAYK,
nouent, moHeAiok 9.00 — 13.00, ayauTopis 607.
2.3. CamocrTiiiHa poOoTa cTyAeHTa Ta KOHTpOJbHI 3axoau y |l cemectpi
Koz 3aBnanHs Ha CPC Ta KOHTPOJIBHI 3aX01 Kipiicr Crpok
MOTYJIS TOJIMH | MPOBEJEHHS
3M-I15 17 1-3
THXKICHB
e [linrOoTOBKA 10 YCHOTO OMUTYBAHHS, 4 1 Twxneun
MiJITOTOBKA 'paMaTUYHOI TEMHU Ta MiATOTOBKA
JIOMAITHBOTO YNTAHHS
e [linroTOBKA 1O BUKOHAHHS MOAYJIBHOI 4 2 TWXKJICHb
KOHTpPOJIbHOT po0oTH Ne 5 (000B’sI3K0BE)
Koumponwni 3axoou:
e YCHE ONUTYBaHHS 4 2 TWX]ICHb
« [lepeBipka MMCHMOBO BUKOHAHUX CITHCKIB 4 3 THXKIEHB
HE3HAMOMHUX CITIB Ta iX MepeKyIa sl yCHOTO
NepeKIaay TeKCTIB
« [lepeBipka MMCHMOBO BUKOHAHUX 1 3 THXKIEHB
rpaMaTHYHUX BIIpaB
e MoaynbsHa KOHTpOJbHA poboTa No 5 3 TXKICHB
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3M-I16 17 3-5
THKICHD
e [lixrOoTOBKA 10 YCHOTO ONMUTYBaHHS, 4 3 THXKIEHD
MiATOTOBKA TpaMaTUYHOI TEMHU Ta TiArOTOBKA
JIOMAIITHEOI'O YHTAHHS
e [linroToBKa 10 BUKOHAHHS MOJTYJIHHOI 4 4 THKIEHD
KOHTPOJIbHO1 po0oTH Ne 6 (000B’SI3KOBE)
Konmpononi 3axoou:
e YCHE OIUTYBaHHS 4 4 THKIEHD
o [IepeBipka MMCbMOBO BUKOHAHUX CITHCKIB 4 5 THXJICHB
HE3HAHOMUX CJIIB Ta iX MepeKIIal Jisl YCHOTO
nepeKIIaly TEKCTIB
o [IepeBipka MMCHMOBO BUKOHAHUX 1 5 THXJICHB
rpaMaTUYHUX BIIPaB
e MoaynpHa KOHTPOJIbHA poOoTa Ne 6 5 THKICHb
3M-I17 17 6-—8
THXKJICHB
e [linrOoTOBKA 10 YCHOTO ONMUTYBAHHS, 4 6 THXXIEHD
M1JIT0OTOBKA rpaMaTUYHOI TEMHU Ta MiATOTOBKA
JIOMAIITHEOT'O YHTaHHS
e [TigroroBKa 70 BUKOHAHHS MOAYJBHOI 4 { THXIEHD
KOHTPOJBHOT po6oTu Ne 7 (060B’A3K0BE)
Konmpononi 3axoou:
e YCHE ONUTYyBaHHS 4 7 THXKIEHB
« [lepeBipka MMCHbMOBO BUKOHAHUX CITMCKIB 4 8 THXKIeHb
HE3HAHOMUX CJIIB Ta iX MepeKIIal JIsl YCHOTO
nepeKIaay TeKCTiB
« [lepeBipka MMCbMOBO BUKOHAHUX 1 8 T IIeHb
rpaMaTHYHUX BITpaB
e MonynbsHa KOHTpoJibHA poOoTa Ne 7 8 TKIeHB
3M-I18 17 8-10
THXKICHB
e [linrOoTOBKA 10 YCHOTO OMUTYBAHHSI, 4 8 TIKIEHD
IIITOTOBKA IpaMaTUYHOI TEMHU Ta IMArOTOBKA
JIOMAIITHLOT'O YA TAHHS
e [ligroToBKa 70 BUKOHAHHS MOIYJIBHOL 4 9 TIKIEHD
KOHTPOJIbHOT po6oTH Ne 8 (000B’s13K0BE)
Konmponoui 3axoou:
e YCHE OIUTYBaHHS 4 9 TIDKIIEHD
« [IepeBipka MMCbMOBO BUKOHAHUX CITHCKIB 4 10 THKICHB
HE3HAMOMHMX CITiB Ta iX MepeKyIa Iy yCHOTO
nepeKsaay TeKCTIiB
o [IepeBipka MMCbMOBO BUKOHAHUX 1 10 THKICHB
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IrpaMaTUYHUX BIIPAB

e MoaynbsHa KOHTpOJbHA podoTa Ne 8 10 Tk e
3M-I19 16 11-13
THOKJCHb
e [lixrOoTOBKA 10 YCHOTO OMUTYBaHHS, 4 11 TKIEHb
MIJITOTOBKA I'paMaTUYHOI TEMHU Ta MArOTOBKA
JIOMAIITHHOT'O YMTAHHS
* [linroTOBKA 1O BUKOHAHHS MOJYJIHHOI 4 12 THXIECHD
KOHTPOJIbHOI po60TH Ne 9 (060B’s13K0BE)
Konmpononi 3axoou:
e YCHE OIUTYBaHHS 4 12 THKICHB
« [lepeBipka MMCHMOBO BUKOHAHUX CITHCKIB 3 13 TIKIEHb
HE3HAHOMUX CJIIB Ta iX MepeKIIal Ijisl YCHOTO
nepeKIIaly TeKCTIB
o [IepeBipka MICHbMOBO BUKOHAHUX 1 13 TIKIEHb
rpaMaTUYHUX BIIPaB
MopynbHa KOHTpOJIbHA poO6oTa Ne 9 13 THXKIEeHb
3M- 16 13-15
I110 THOKJICHb
e [linrOoTOBKA 10 YCHOTO ONMUTYBAHHS, 4 13 THKICHB
M1JIT0OTOBKA rpaMaTUYHOI TEMHU Ta MiATOTOBKA
JIOMAIITHHOTO YMTAHHS
e [ligroroBKa 70 BUKOHAHHS MOAYJBHOI 4 14 TIKIEHb
KOHTPOJBHOT poboTu Ne 10 (000B’s13K0BE)
Konmpononi 3axoou:
e YCHE ONUTYBaHHS 4 14 THXIEHD
o [IepeBipka MMCHbMOBO BUKOHAHUX CITHCKIB 3 15 TKIeHb
HE3HAHOMUX CJIIB Ta iX MepeKIIal JIsl YCHOTO
nepeKIaay TeKCTiB
« [IepeBipka MMCbMOBO BUKOHAHUX 1 15 THKICHB
rpaMaTHYHUX BITpaB
MopynbHa KOHTpoJibHa poooTa Ne 10 15 THXKIEeHb
[TinroToBka /10 iCIIUTY 20 Cecia
Konmponoui 3axoou:
e IctiuT
Pazom: 120
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1. MeTtoarka NpOBEICHHS Ta OHiHIOBaHH}I KOHTPOJIBHOI'O 3aX0o4y IJIA 3M-II5.

MiHIMaJIbHUHM 00cAT 0a30BUX 3HAHD, 110 HEOOX1AHMH I 3acBocHHs 3M — I15:

— YHTaTH, IepeKiIalaTy Ta mepekazyBaTu Tekctu “The Ecosystem”, “Famine
and Flood”;

— BH3HAYMUTH XapaKTEPUCTUKHU B)KMBaHHS Ta IMEPEKIIaay TpaMaTHIHUX
siBuII 3a TeMoto «IHdiniTuy (The Infinitive);

— HaABUYMUTHCS YTBOPIOBATH Ta BXKWBATH Pi13HI rpaMaTU4HI PopMH
1H(]1HITHBA;

— YWTATH, IEPEKJIAJATH Ta AaHOTOBAHO MEPEKa3yBaTH TEKCTH 3a (DaxOBOIO
TEMAaTHUKOIO.

MaxkcumanbHa cyma 6aJiiB 3a 000B’A3K0Bi 3axX014 KOHTPo.1i0 3 3M-II5 — 16
OauiB:

1 3aBnanasg — 14 Oanis:

JluB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIMCHKOI MOBOIO
1 — cniucok He3HaMOMMX CJIIB Ta IX MepeKIaj
1 — ycHuil nepeknaa TeKCTy
1 — nepeka3 Tekcty

b) 4(1+1+1+1)
1 — ynuTaHHS TEKCTY aHTIIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKiIaa
1 — nrucpbMoOBE BUKOHAHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIICHKOK MOBOIO
1 — cniucok He3HaMOMMX CJIIB Ta 1X MepeKiIaj
1 — nmuceMOBE BUKOHaHE Summary
1 — ycue Summary

d 2(1+1)
1 — TMCHMOBHIT KOHCIIEKT MpaBui 3a Temoro The Infinitive
1 — nMChbMOBO BUKOHAHHI IpaMaTH4Hi BrpaBu 3a Temoro The Infinitive
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1 3aBmanns (14 0aniB) He € 000B’ I3KOBHM.

2 3aBaaHHsg — 16 OaiB:

Buxkonanusa MKP Ne 5

MonynsHa KOHTpOJbHa poOoTa ckimamaeTbess 3 30 3aBmanb. KoxHe
3agaanHs 0,53 6amu. MoaynpHa KOHTPOJIbHA POOOTA BBAKAETHCS 3apax0BaHOIO,
SKITO0 HaJAaHO MiHIMYM 18 mpaBUIIbHUX BIATOBIIEH.

SIxmo 3axoau 000B’SA3KOBUX (OPM KOHTPOJIO BUKOHYIOTHCS CTYIACHTOM
micJsl CTPOKIB, BU3HAYEHUX Y Mporpami HaBYAJIbHOI JUCIUIUIIHHU, KUIBKICTh
OayiB, 10 MOXE OTPUMATH CTYACHT, He Moxe mnepesuinyBatu 60% Bif
MaKCHUMAaJIbHO MOKJIUBOI JUIs 1i€1 ()OpMU KOHTPOJTIO.

OmuiHka 3a okpeMi (200 yci) MOYJIl 3HUXKY€EThCA Yy pa3l MPOITYyCKIB 3aHATh
CTYJIEHTOM. 3a KOXKHE NpOIyUIeHEe 3aHATTA 3HIWKyeTbca 0,5 Oanm, ane
MiHIMaJIbHAa OIlIHKa TIICJIS 3HI)KEHHS He Moxke Oytu Huxya 60% Bin
MAaKCUMAaJIbHO MOKJIUBOL.

MaxkcumanbHa cyma 000B’sa3k0BuX 6aiis 3 3M-I15 — 16 Ganis.

2 3aBnanHs (16 6amiB) € 000B’I3KOBUM.

2. MeToavka poBEIEHHS Ta OIIHIOBAHHS KOHTPOJIBHOTO 3axony it 3M-116.

MiHIMaJabHUN 00caT 0a30BUX 3HAHD, 110 HEOOX1AHMH 11 3acBocHHS 3M — I16:

— 4YHTaTH, IepeKIaaaTu Ta nepekasysaru texctu “Global Warming”, “Kyoto
Revisited”;

— BH3HAYaTH XapaKTEPUCTUKH BKUBAHHS Ta IMEPEKIIaay TpaMaTHIHUX
siBuII| 3a TeMoro «Iepynaiin» (The Gerund);

— HaBYUTHCS YTBOPIOBATH Ta BXKUBATH P13HI TpaMaTtuyHi (HOPMH TepyH/IIS;

— YWTAaTH, IEPEKJIaJaTH Ta aHOTOBAHO MEPEKa3yBaTH TEKCTH 3a (DaxOBOIO
TEMAaTHKO¥O.

MakcumanbHa cyma 0aJjiiB 3a 000B’s13k0Bi 3ax01u KOHTpoJI10 3 3M-T16 — 16
0aJiB:

1 3aBnannasg — 13 Oanis:
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JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — ynuTaHHS TEKCTY aHTJIIMCHKOI MOBOIO
1 — circok He3HAHOMUX CITiB Ta iX TepeKIan
1 — ycHuil nepeknaa TeKCTy
1 — nmepeka3 Tekcry

b) 4(1+1+1+1)
1 — 9ynTaHHS TEKCTY aHTTIHCHKOIO MOBOIO
1 — criMcok He3HAHOMUX CITIB Ta 1X MEPeKIIa
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — cniucok He3HAMOMMX CIIIB Ta IX MepeKIaj
1 — nmuceMOBE BUKOHaHE Summary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — muchrMOBHI KOHCIIEKT IIPaBHII 32 TeMoro The Gerund
0,5 — mucpMOBO BUKOHAHHI TpaMaTH4HI BITpaBu 3a Temoro The Gerund

1 3aBnanus (13 6aiiB) He € 000B’I3KOBUM.

2 3aBiaaHHsd — 16 Ganis:

Buxkounanusa MKP Ne 6

MonaynbHa KOHTponbHAa poboTta ckinamaetbes 3 30 3aBmanb. Kokne
3apaanHs 0,53 6amu. MoayipHa KOHTPOJIbHA POOOTA BBAKAETHCS 3apax0BaHOIO,
SIKIIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJIITOBIICH.

Axiio 3axonu 000B’A3KOBUX (HOPM KOHTPOJIO BUKOHYIOTHCSI CTYACHTOM
MICIIs CTPOKIB, BHU3HAYEHUX Y MPOTpaMi HABYAIBHOI TUCIUIUIIHHU, KUIBKICTh
OaniB, IO MOXE OTPUMATHU CTYIEHT, HE Moxke mnepeBuuryBatu 60% Big
MaKCUMaJIbHO MOXJIMBOI JIJIS ITi€T (hOPMH KOHTPOJTIO.

Omninka 3a okpeMi (abo yci) MOAYI 1 3HUKYETHCS Y pasi MPOMYCKIB 3aHATH
CTYJEHTOM. 3a KOXXHE IMpOIylleHe 3aHATTS 3HWKyeTbcs 0,5 Oamu, ane
MiHIMaJbHa OIlIHKA TICIsS 3HIWKEHHS HEe Moxke OyTu Hmwkda 60% Bif
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MaKCHMaJIbHO MOKITUBOI.
MakcumMaiibHa cyma 000B’13K0BHUX OajiiB — 16 Oauis.
2 3aBnanHsa (16 GamiB) € 060B’I3KOBHUM.

3. Meroanka rpoBeJIEHHS Ta OIIHIOBAHHSI KOHTPOJIBLHOTO 3ax0y Uit 3M-I17.

MiHiMaJIbHAHM 00cAT 0a30BUX 3HAHb, 1110 HEOOX1AHMI 11 3acBoeHHsA 3M — I17:

— yyTaTH, NEepeKiIagaTi Ta rnepekasyBatu Texctu “Natural Wonders of the
World”;

— BW3HAYATH XapaKTEPUCTHUKH BXXKUBAHHS Ta MIEPEKIIAAy IPaMaTUIHHUX SBHUIII
3a remoro Participle | Ta Participle Il;

— HABYMTHUCS YTBOPIOBATH Ta BxkuBaTH pi3Hi popmu Participle I ta II;

— YUTaTH, IEPEKIIAJaTH Ta aHOTOBAHO MEePEKa3yBaTH TEKCTH 3a (PaxoBOIO
TEMaTHKOIO.

MaxkcumanbHa cyma 6aJiiB 3a 000B’A3K0BI 3ax0au KOHTPoJII0 3 3M-I17 — 17
OauiB:

1 3aBnannsg — 13 Oanis:

JuB. Tabm1. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIMCHKOK MOBOIO
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKia
1 — ycHuit mepekyaa TeKCTy
1 — mepeka3 TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTIIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKia
1 — nmuceMOBE BUKOHaHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTIIIICHKOIO MOBOIO
1 — ciucok He3HAMOMMX CJIiB Ta TX MepeKiIaa
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycue Summary
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d) 1(0,5+0,5
0,5 — nuchbMOBHIA KOHCIIEKT IIpaBHII 3a TeMoro The Participle
0,5 — nuchMOBO BUKOHAHHI TpaMaTHYHI BIIpaBH 3a TeMoro The Participle

1 3aBmanns (13 O6aniB) He € 000B’I3KOBUM.

2 3aBaaHHs — 17 Oais:

Buxonanusg MKP Ne 7

MonaynbHa KOHTpolibHAa poboTa ckimamaetbes 3 30 3aBmanb. KokHe
3aBaanHs 0,57 6aniB MoynbHa KOHTPOJIbHA POOOTAa BBAXKAETHCS 3apax0BaHOIO,
SKITO HaJaHO MiHIMYM 18 npaBUIIbHUX BIATOBIICH.

SIko 3axonu 000B’A3KOBUX (POPM KOHTPOJIIO BUKOHYIOTHCSI CTYACHTOM
MICIs CTPOKIB, BU3HAYEHUX Y MPOTrpaMl HABYAIBHOI JUCHUIUIIHHU, KUIBKICTh
OaiiB, M0 MOXE€ OTPUMATH CTYACHT, HEe Moxe mnepesuinyBatu 60% Bif
MaKCUMaJIbHO MOXJIMBOI JIJIs €T (POPMHU KOHTPOJIIO.

OmuiHka 3a okpeMi (200 yci) MOYJIl 3HUKY€EThCS Y pasi MPOIYCKIB 3aHSTh
CTYyIICHTOM. 3a KOXXHE TIPOIyIICHEe 3aHATTA 3HIWKyeThes 0,5 Oamm, ane
MiHIMaJbHa OIlIHKA TICIsS 3HIKEHHS He Moxke Oyth Hmwkda 60% Bifg
MaKCHUMaJIbHO MOKJIUBOI.

MakcumanbHa cyma 000B’a3k0Bux 6aiiB 3 3M-I17 — 17 Gamis.

2 3aBnanHs (17 6amiB) € 000B’SI3KOBHM.

4. Metoauka IpoBEIECHHS Ta OIHIOBAHHI KOHTPOJILHOTO 3ax0ay it 3M-I18.

MiHiMaJIbHUHR 00cAT 0a30BUX 3HAHb, 1110 HEOOX1THMI 171 3acBocHHS 3M — I18:

— 4YWTaTH, NEepeKiaaaTi Ta nepekasyBatu Tekctu “Decision-making on the
Solution of Ecological Problems”;

— BU3HAYaTH XapaKTEPUCTUKHU BKUBAHHA Ta MEPEKIAAy TPaMaTUUYHUX
sBui 3a Temoro Conditional Sentences (Type O, I, 11, 11);

— HaB4MTHCS yTBOproBath Ta BxuBatu Conditional Sentences (Type O, I,
I, ).

— YHUTaTH, NEPeKIaIaTi Ta aHOTOBAHO TIEPEKA3yBaTH TEKCTH 3a (HaxOBOIO
TEMaTUKOIO.
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MakcumanbHa cymMa 0aJjiiB 3a 000B’A3K0Bi 3aX0a1 KOHTPO.I10 3 3M-II8 — 17
OauiB:

1 3aBnanag — 13 OamiB:

JuB. Ta6m1. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOIO MOBOIO
1 — circok He3HAHOMUX CITIB Ta iX TepeKIa
1 — ycHuit nepekiag TEeKCTy
1 — nmepeka3 Tekcty

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — circok He3HAHOMUX CIIIB Ta iX MepeKia
1 — nrucpbMOBE BUKOHAHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIMCHKOI MOBOIO
1 — cniucok He3HAMOMMX CIIiB Ta 1X MepeKiIaa
1 — nmuceMOBE BUKOHaHE Summary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — nucpMoBHiT KOHCTIEKT TpaBmi 3a TeMoro Conditional Sentences (Type O, I,
1, 1)
0,5 — muchbMOBO BUKOHAHHI TpaMaTU4Hi Biipasu 3a Temoro Conditional Sentences

(Type O, 1, 11, 111)

1 3aBmanns (13 0aniB) He € 000B’ I3KOBHM.
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2 3aBaandg — 17 OamiB:

Buxonannsg MKP Ne 8

MonynpHa KOHTpOJbHa pobOoTa ckiamaerbess 3 30 3aBmanb. Koxae
3agaanHs 0,57 6amiB. MoayibHa KOHTPOJIbHA pOOOTA BBAKAETHCS 3apax0BaHOIO,
SKIIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJIOBIIEH.

ko 3axonu 000B’A3KOBUX (DOPM KOHTPOJIO BUKOHYIOTHCSI CTYyACHTOM
MiCIsg CTPOKIB, BU3HAUEHMX Yy Mporpami HaBYaIbHOI JAUCIHUIUIIHM, KUIbKICTh
OayiB, 10 MOXE OTPUMATHU CTYAEHT, HEe MOKe mnepeBuiryBatd 60% Bif
MaKCHUMaJIbHO MOKJIUBOI JUIs 1i€1 )OpMH KOHTPOJIIO.

OriHka 3a okpeMi (200 yci) MOJyJIl 3HUXKY€EThCS Y pa3i MPOITYCKIB 3aHSTh
CTyJICHTOM. 3a KOXXHE TIPOMYyIIeHe 3aHATTS 3HIWKyeTbes 0,5 Oamm, aie
MiHIMaJbHa OIlIHKA TIICIsS 3HIKCHHS He Moxe OyTu Hmwkda 60% Bifg
MaKCHUMaJIbHO MOKJIMBOI.

MaxkcuMmanpHa cyma 000B’s13k0BuX 6amis 3 3M-I18 — 17 Gais.

2 3aBaanHs (17 6amiB) € 000B’ I3KOBUM.

5. Meroanka nmpoBeJIEHHS Ta OIIHIOBAHHSA KOHTPOJLHOTO 3axoay it 3M-119.

MiHIMaJabHUN 00caT 0a30BUX 3HAHD, 110 HEOOX1AHUHN 111 3acBocHHs 3M — I19:

— 4YWTaTH, TepeKialaTh Ta TepekasyBath Tekctu “Strategy of national
ecological policy of Ukraine until 20207;

— BH3HAYATH XapaKTEPUCTUKKM B)KUBAHHS Ta IMEPEKIaay rpaMaTHUYHUX
sBuill 3a Temoro Indirect Speech;

— HaBYMTHUCS yTBOpIOBaTH Ta BxuBatu Indirect Speech.

— YWTAaTH, IEPEKJIAJTaTH Ta aHOTOBAHO MEPEKa3yBaTH TEKCTH 3a (DaXOBOIO
TEMAaTHKO¥O.

MaxkcumanbHa cyma 6aJiiB 3a 000B’A3K0Bi 3aX011 KOHTPo.JIi0 3 3M-I19 — 17
OauiB:

1 3aBnandsg — 13 Oauis:

JluB. Tabm. 2.2
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a) 4(1+1+1+1)
1 — ynTaHHA TEKCTy aHIIHCHKOIO MOBOIO
1 — criucok He3HANOMUX CIIIB Ta IX MEpeKIa
1 — ycHuii nepeknan TEKCTy
1 — mepeka3 Tekcry

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — circok He3HAHOMUX CITIB Ta iX MepeKIan
1 — nmuceMoOBE BUKOHaHE Summary
1 — ycae Summary

c) 4(1+1+1+1)
1 — ynuTaHHS TEKCTY aHTIIIHCHKOI MOBOIO
1 — cnircok He3HAHOMUX CIIIB Ta iX TepeKia
1 — nrucpbMOBE BUKOHAHE Summary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — nmucpMoOBHIA KOHCTIEKT TIpaBHII 3a TeMoro Indirect Speech
0,5 — mucrkMOBO BUKOHAHHI TpaMaTHU4HI BripaBu 3a Temoro Indirect Speech

1 3aBmanus (13 OaniB) He € 000B’I3KOBHM.

2 3aBnanasg — 17 OaiiB:

Buxonanuasa MKP Ne 9

MonynpHa KOHTpOJbHa poOoTa ckimamaeTbess 3 30 3aBmanb. KokHe
3apaanHs 0,57 6amiB. MoayiibHa KOHTPOJIbHA pOOOTa BBAXKAETHCS 3apax0BaHOIO,

SIKIIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJIITOBIICH.

ko 3axonu 000B’SI3KOBUX (POPM KOHTPOJIKO BUKOHYIOTHCSI CTYJAEHTOM
MICIIsl CTPOKIB, BU3HAYEHUX Y MPOTpaMi HABYAIBHOI JUCIUIUIIHHU, KUTBKICTh
OaniB, II0 MOXE OTpPUMATHU CTYIEHT, He Moxe mnepeBuiryBatu 60% Big

MaKCHMAaJIbHO MOYKJIUBOI JJIs 111€1 POpMH KOHTPOJIIO.

Omninka 3a okpeMi (abo yci) MOAYI 1 3HUKYETHCS Y pasi MPOMYCKIB 3aHATH
CTYJEHTOM. 3a KOXXHE MpOMyIIeHe 3aHATTs 3HWwKyeTbcs 0,5 Oamum, ane
MiHIMaJbHA OIlIHKA TICIsS 3HIKEHHS He Moxe Oytu Hmwkda 60% Bifg
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MaKCHMaJIbHO MOKITUBOI.
MakcumanbHa cyma 000B’a3k0BUx 0aiiB 3 3M-I19 — 17 Ganis.

2 3aBnanHs (17 6amiB) € 000B’I3KOBHM.

6. MeToarka npoBEIEHHS Ta OIIHIOBAHHSA KOHTPOJLHOTO 3axoay it 3M-I110.

MiniMansHuAH 00csT 0a30BUX 3HAHB, III0 HEOOXI1qHMH 11 3acBoeHHs 3M — I110:
— yyTaTH, IEpPeKIaJaTH Ta mepekasyBatn Tekctu “‘State ecological
monitoring”;
— BHU3HAYATH XapaKTEPHCTUKU B)KUBAaHHS Ta IEPEKIaay rpaMaTHUYHUX
sBuII 3a Temoro Subjunctive Mood. Revision;
— HaBUYUTHCS YTBOpPIOBaTH Ta BxkuBatu Subjunctive Mood. Revision;

— UYHTaTH, IICPCKIIagaT Td AHOTOBAHO IICPCKA3YBATH TCKCTHU 3a (1)aXOBOI-O
TCMATHKOIO.

MaxkcumanbHa cyma 6aJjiiB 3a 000B’s13K0Bi 3ax01u KOHTpOoJI10 3 3SM-T110 — 17
oaJiB:

1 3aBnanasg — 13 Oais:

JuB. Ta6m1. 2.2

a) 4(1+1+1+1)
1 — ynuTaHHS TEKCTY aHTIIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKia
1 — ycHuit mepekyaa TeKCTy
1 — mepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTIIIICHKOIO MOBOIO
1 — cniucok He3HaMOMUX CIIiB Ta 1X Mepekiaj
1 — nmuceMOBE BUKOHaHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — ynuTaHHS TEKCTY aHTIIIHCHKOIO MOBOIO
1 — circok He3HAWOMUX CIIIB Ta iX TepeKiIan
1 — mrucpbMOBE BUKOHAHE Summary
1 — ycue Summary
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d) 1(0,5+0,5
0,5 — muchbMOBHIT KOHCIIEKT IIPaBHII 32 TeMoro Subjunctive Mood. Revision
0,5 — nrchbMOBO BHKOHAHHI MpaMaTHYHI BIpaBH 3a Temoro Subjunctive Mood.
Revision

1 3aBganns (13 OaitiB) He € 000B’A3KOBUM.

2 3aBaaHHsg — 17 OaiiB:

Buxonanusg MKP Ne 10

MopaynbHa KOHTpoJibHAa poboTa ckiagaerbea 3 30 3aBnanHb. KoxkHe
3aBaanHs 0,57 6aniB. MogyJibHa KOHTPOJIbHA pOOOTa BBAXKAETHCS 3apax0BaHOIO,
SIKIIIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJIOBIIEH.

Axio 3axo1u 000B’A3KOBUX (HOPM KOHTPOIKO BUKOHYIOTHCS CTYI€HTOM MICHs
CTPOKIB, BU3HAYEHHUX Y MMPOTrpaMi HABYAJIbHOI JUCHUIUIIHYU, KUIbKICTh OaliB, 110
MOX€E OTpUMATU CTYAEHT, HE Moke mnepeBuinyBatu 60% Big MakCHUMaJbHO
MOKJIUBOI JIJIs1 I1€T (POPMU KOHTPOJTIO.

Omuinka 3a okpemi (a00 yci) MOIYJI 3HUKYETHCS Yy pasi MPOIYCKIB 3aHATh
CTYJEHTOM. 3a KOXXHE IMpOIyIleHe 3aHATTS 3HWXKyeTbcss 0,5 Oamu, ane
MiHIMaJbHa OIlIHKA TICIsS 3HIKCHHS HEe Moxke OyTu Hmwkda 60% Bifg
MaKCHMaJIbHO MOKJIUBOLI.

MakcumanbHa cyma 0060B’sa3k0Bux 6aiis 3 3M-I1110 — 17 Gamnis.

2 3aBnaHHs (17 GaniB) € 000B’ I3KOBUM.

4. MeToauKa NPOBEACHHS TA OLIHIOBAHHA CEMEeCTPOBOIr0 KOHTPOJLHOI'0
3aX01Y.

KoHTposib TOTOYHWX 3HaHb BUKOHYETHCS Ha 0a3i HAKOMUYIYBAJIBHOI
CUCTEMU OpraHizailii HaB4aHHS.

dakTHuHa cyma OaliB, SIKy OTPUMYE€ CTYACHT 3a NEBHUIM 3MICTOBHHMI
MOMYJb, Ma€ CKJIQJATHUCS 13 PE3yJIbTaTiB BUKOHAHHS 3aXOiB 3 KOHTPOIIO, 110
3aljIaHOBaHI 3a MMM 3MICTOBHUM MOJYJieM, Ta YpPaxOBYBaTH CBO€YACHICTh
(HampuKIam: CTYIEHT, SKUW TMPOMYCTUB KOHTPOJBHUN 3axijg 0e3 MOBaKHUX
npu4rH ab0 OTpUMaB HE3aJOBIIBHY OIIHKY, MAa€ MPaBO y THXKHEBUU TEPMIH
BUKOHATH 3aBJaHHA [bOTO 3aXO0AY 3 MaKCUMaJlbHOI CYMOK OaiB,
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€KBIBJICHTHOO OIlIHII HE OUTBIIIN HDK "3aI0BUIHHO") BHKOHAHHS CTYJICHTOM
rpadiKy HaBYaIBHOTO MPOIIECY.

Cywmu GaiB, sSIKi OTpMMaB CTYACHT 3a BCIMa 3MiCTOBHHUMHU MOAYJIIMHU HaB-
YajabHOI JUCHUIUIIHK, (OPMYIOTh KUIBKICHY OIIIHKY (0ayl yCHIIIHOCTI) 3a
MiJCyMKaMH TOTOYHHMX KOHTPOJIIOIOYMX 3aXOiB CTYyACHTa 3 HaBUYaJIbHOI
TUCITUTUTIHU. Pe3ynbTaT MOTOYHOTO KOHTPOJIO 3aHOCATHCS JO 1HTErpajbHOI
BiloMOCTI. PilIeHHs mpo AOMycK CTyAEHTa A0 MiJICYMKOBOTO CEMECTPOBOTO
KOHTPOJTIO 3 KOHKPETHOT HABYAJILHO1 TUCIUTIIIH perIaMeHTY€eThes [1ookeHHIM
PO MPOBEACHHS MiACYMKOBOTO KOHTPOJIIO 3HAHD CTYJCHTIB.

CTyneHT BBaXa€ThCs JOMYIMIEHHM [0 TIJICYMKOBOTO CEMECTPOBOTO
KOHTPOJTIO (ICIIUTY), SKIIO BIH BUKOHAB BC1 BUJIU PoOIT, epeadadeHi poOodoro
HaBYAJILHOIO MIPOTPaMOI0 JUCIMIUTIHU 1 HA0paB 3a MOIYJIBHOIO CHCTEMOIO CYMY
6aniB He meHie 50 (50%) Bin MakCMMaIbHO MOXKJIHUBOI (000B’SA3KOBAa YaCTHHA
100 GaniB) 3a MpaKTUYHY YACTUHY.

[TicyMKOBUM KOHTPOJIEM 3HAHB CTYJICHTIB € ICIHUT.

Exk3amenarriiina po0oTa ckinagaeThes 3 4 3aBJaHb. | 3aBAaHHA OLIIHIOETHCS B 50
OamiB, 2 3aBgandsa B 20 Oaiis, 3 3aBnanug B 10 6amniB 1 4 3aBgannsa B 20 Oanis.
Ek3amenariiina poOoTa BBa)Ka€ThCS 3apaxOBaHOIO, SKIIO CTYACHT HaOpaB
MiHiMyM 60 OaiB.

®opma Ne H-5.05

OJIECEKUM NEPXXABHUU EKOJIOTTYHUM VHIBEPCUTET

(moBHe HaliMeHyBaHHs BUIIOTO HABYATIHLHOTO 3aK/IaTy)

PiBens BuIIO1 OCcBiTH: Marictp
CremnianbHicTh: 073 «MenemxmenT», 281 «IIyoJiyHe ynpaBJiHHSA
Ta aAMiHICTPYBAHHS Cemectp I
Hapuanpua qucrumrina: IHo3eMHa MOBa 3a MpodeCiiHUM CIpSIMYBaHHIM

EK3AMEHAIIAHAM BIJIET Ne 1

1. Grammar Test L 50 6.

2. Translate the text and put 5 questiontoit. ... 2006.

3. a)Translate the text and entitleit ... 10 6.
b) Give a brief summary of the text (not more than 3 sentences)

4. Write about “My scientific interests” ... 20 ©.

3aTBep/KEHO Ha 3aci/laHHl KadeIpu 1H0O3EMHUX MOB

IIpotokon Ne  Bim*“__” 202 poky
3aBinyBau kadeapu, roj1oBa HMKJI0OBOI KOMICii IsnoBa LIO.
(minmc) (npi3BuILe Ta iHiIiaMM)
Ex3amenartop
(mirmc) (mpi3BHILIE T iHILIaTH)
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3arajnpHa KiIbKICHA OLIIHKA € YCepeIHEHOK MK KUIbKICHOI OI[IHKOIO
MOTOYHMX KOHTPOJTFOIOUMX 3aX0A1B (Tpada 3 B11OMOCTI) Ta KUTBKICHOIO OLIIHKOIO
CEMECTPOBOI'0 KOHTPOJIFOI0UOT0 3axoy (rpada 4 BiJIOMOCTI) 1 BUCTABIISIETHCS Y
rpadi 5 3a1KOBO-eK3aMEeHalliiiH1 BIJIOMOCTI (3arajibHUi OaJ1 yCIIIIHOCTI).

SIKIIO0 CTyJIEHT 3a MiACYMKaMd ICOUTY OTpPUMaB 3arajibHy KUIbKICHY
otiHky MeHmie 50% (Big MakCUMaIbHO MOXKJIMBOI HA €K3aMEHI), TO BUKJIaJaueM
BUCTABISIEThCS Y Tpadi 5 3aranbHUN 06an yCHIMIHOCTI, SKUN JAOPiBHIOE Oairy
ycenimHocTi Ha icnuti (tpada 4).

IIkana ouinwoBanus 3a cucremorw EKTAC Ta cucremoro yHiBepcuretry

3a HallOHATILHOIO CHCTEMOIO 3a cucremMoro
3a 1mKasior .
ECTS . ’ YHIBEpCHUTETY
11 icnuTy IS 3aTTHKY (B mponeHTaXx)
A 5 (BiZMIHHO) 3apaxoBaHO 90 - 100
B 4 (mob6pe) 3apaxoBaHO 82 -89
C 4 (mobpe) 3apaxoBaHO 74 - 81
D 3 (3a10BUJTEHO) 3apaxoBaHO 64 - 73
E 3 (3a10BiNBHO) 3apaxoBaHO 60 - 63
FX 2 (He3aI0BUTBHO) HE 3apaxoBaHO 35-59
F 2 (He3ad0BIJIBHO) HE 3apaxOBaHO 1-34

3. PEKOMEHJAIII 1O CAMOCTIHHOI POBOTH CTYJEHTIB

3.1.  Mooyav 3M-II5 “The Ecosystem”, “Famine and flood ”, The Infinitive;
nepexnao mekcmy 3a (haxom ma nepexiao CycnilbHO-NONIMUYHO20 MEKCH) 3
AH2NTUCLKOI HA YKPAIHCLKY MOBY.

Jlitepatypa: [1, c. 45 -55], [2, c. 38-42], [5, c. 73-84]

3.1.1. IloByanHus

e) Text A. “The Ecosystem”. “Famine and flood”.

1. [IpounTatu TEKCT aHTIIHCHKOIO MOBOIO.

2. BumnucaTy 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.

3. YCcHO nepeKk1acTy TEKCT 3 aHTIHCHKOI Ha YKPaiHChbKY MOBY.
4. Ilepekas3aTu TEKCT.

f) Homamine yntanus. [Tepekaan TekcTy 3a haxom.

1. CaMoOcCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
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Jp.3HAaKIB)

2. BunicaTu 3 TeKCTy HOBI CJIOBa Ta 3p0OUTH iX MEpeKIa/l.

3. YCHO nepeKIacTi TEKCT 3 aHTUIMCHKOI Ha YKPaiHChKY MOBY.
4, ITucbmoBe Summary.

5. Ycue Summary

g) HomamHe ynuTaHHs (IEPEKIIA]] CYCIIIBHO-TIOITAYHOTO TEKCTY)

1. CamocTiitHO 00paTy TEKCT 3 aHTIIOMOBHOI razetu (2500 mp.3HaKIB)
2. BunncaTy 3 TEKCTY HOBI CJIOBa Ta 3pOOHTH X TIEpEeKIal.

3. YCHO mnepeKIacTi TEKCT 3 aHTIMChKOT Ha YKPaiHChKY MOBY.

4, ITucbmoBe Summary.

5. ¥Ycue Summary

h) Grammar:
The Infinitive

1. 3poOuTH KOHCIIEKT MpaBUJI BXKMBaHHA 1H(IHITUBY Ta loro popM y
AKTUBHOMY Ta IACUBHOMY CTaHAX.
2. BukoHaTu TpeHyBaJlbHI FpaMaTH4HI BIPABHU.

el NS

o o

9.

3.1.2. [lutanHa 11 caMOTIepeBIpKU

What is an ecosystem?

What are autotrophic beings?

What are heterotrophic beings?

What are the processes that autotrophic beings use to produce organic material
from inorganic substances?

What is the primary energy source for life on earth?

What is the main means by which autotrophic beings obtain energy?

Which is the autotrophic group responsible for the production of most part of
the molecular oxygen of earth?

In the ecological study of food interactions, what are the autotrophic beings
called?

How are the heterotrophic beings divided in the ecological study of foo
interactions?

10.What are primary consumers?
11.Can a food chain present quaternary consume: without having secondary or

tertiary consumers?

12.Can a tertiary consumer of one chain be a primary or secondary consumer of

another chain?
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3.2.  Mooyav 3M-II6 “Global Warming”, “Kyoto Revisited ”, The Gerund;
nepexnao mekcmy 3a (haxom ma nepexnao CycnilbHO-NONIMUYHO20 MEeKCM) 3
AH2NTUCLKOI HA YKPAIHCLKY MOBY.

Jliteparypa: [1, c. 55 - 64], [2, c. 47-50], [6, c. 94-100]
3.2.1. [loBuanus

a) Text A. “Global Warming”. “Kyoto Revisited”.

1. [IpounTatu TEKCT aHTIIHCHKOIO MOBOIO.

2. BunucaTu 3 TEKCTy HOBI CJI0OBa Ta 3pOOUTH iX MEpeKal.

3. YCHO nepekiIacTy TEKCT 3 aHIIINChKOT Ha YKPaiHChKY MOBY.
4. Ilepeka3aTu TEKCT.

b) Homarne unranus. [lepeknam TeKCTy 3a haxom.

1. CaMocCTIiitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAKIB

2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.

3. YCHO nepeK1acTu TEKCT 3 aHIIHChKOI Ha YKPAiHCbKY MOBY.

4. TImcpmoBe Summary.

5. Ycue Summary

c) JlomarHe ynuTaHHs (MEPEKIaz] CyCIUIbHO-TOTITHYHOTO TEKCTY)

. CamocrTiifHO 00paTu TEKCT 3 aHTIIOMOBHOI razetu (2500 ap.3HaKiB)
. Buncatu 3 TekcTy HOBI ClloBa Ta 3p0OUTH iX MEPEKIIa/l.

. YCHO mepeKk1acTu TeKCT 3 aHTJIACHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN BN WN =

d) Grammar:
The Gerund

1. 3po6uTH KOHCHIEKT MPaBUJI BXKUBAHHA T€PYHIII0 Ta KOT0 (hOPM Y aKTUBHOMY
Ta MACUBHOMY CTaHaXx.
2. BukonaTtu TpeHyBalIbHI TpaMaTHYHI BIPABH.

3.2.2. [lutaHHs 1151 caMOTIepEeBIpKH

12.What is one of the biggest threats facing the planet?
13.What is the cause of temperature’s rising?
14.What have the researchers gathered over the past 20 years?
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15.What is the global warming?

16.Do you know the real size of mankind’s contribution to the warming trend?

17.How should greenhouse-gas emissions be abated?

18.What is in a new paper for the Copenhagen Consensus project examined?

19.Are rising temperatures capable of causing great economic harm-though a
lot?

20.How much would total economic damage fall on farmers?

21.Why could farmers no longer use some lands?

22.What does Mr. Cline investigate?

23.What is the Kyoto treaty?

24.What would a global carbon tax encourage?

25.Why do many rich countries refuse to sign the Kyoto treaty?

26. Does the last policy recognize that predictions of climate change encompass
a wide range of scenarios? Why?

27. What can you say about the possible damage costs?

28.Do you know three possible remedies?

29.Are given figures huge and very speculative?

3.3. Mooyas 3M-IT7 “Natural Wonders of the World ”, The Participle;
nepexnao mekcmy 3a (haxom ma nepexnao cycnilbHO-NOTIMUYHO20 MEKCH) 3
AH2NTUCLKOI HA YKPAIHCLKY MOBY.

Jliteparypa: [1, ¢. 65-79], [2, c. 42-47], [6, c. 84-94]

3.3.1. [loBuanus
a) Text A. “Natural Wonders of the World ”.

1. [IpounTatu TEKCT aHIIIHCHKOIO MOBOIO.

2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.

3. YCcHO nepeKiacTy TEKCT 3 aHTJIHChKOI Ha YKPaiHCbKY MOBY.
4. Ilepekas3aTu TEKCT.

b) domamne yntanns. [lepekian TeKCTy 3a haxom.

1. CamocTiitHO BUOpATH TEKCT 3 aHTJIOMOBHOIO TeKCTY 3a (haxom (8000
JIp.3HAaKIB

2. Bunucatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX MepeKal.

3. YCHO nepeks1acTu TeKCT 3 aHIJIIHChbKOI Ha yKPaiHChKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary
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¢) HomarHe ynTaHHs (IEPEKIa] CYCIIIbHO-TIOJITHYHOIO TEKCTY)

1. CamocTiitHO 00paTu TEKCT 3 aHTIOMOBHOI razetu (2500 1p.3HaKiIB)
2. Bunmcaty 3 TEKCTy HOBI CJIOBa Ta 3pOOHTH iX MEPEKIal.

3. YCHO nepeKs1acTu TeKCT 3 aHTJIIIMChKOI Ha YKPaiHChKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary

d) Grammar:
The Participle

1. 3po6uTH KOHCIIEKT MpaBWJI BXKMBAHHS JIIEMNPUKMETHHUKA Ta HOro Gopm y
AKTUBHOMY Ta TACUBHOMY CTaHAX.
2. BukoHaTu TpeHyBaJIbHI FpaMaTH4HI BIPaBH.

3.3.2. [lutanus 17151 caMONIEPEBIPKU

13.What does the Victoria Falls offer?

14.Who reported the existence of the Falls?

15.When did David Livingstone reported the existence of the Falls to the
outside world?

16.What is the Hunters Road?

17.What does the list of commercial activities include?

18.What can you say about the Grand Canyon?

19.What can you say about the John Wesley?

20.What did John Wesley write about the Grand Canyon?

21.What can you say about the Colorado river?

22.What is Gorge?

23.What is Vishnu schist?

24.How many years ago did Grand Canyon form?

25.What other magnificent wonders of the world do you know?

26. When did the region become more politically stable?

27.Why are new activities emerging and why is the industry becoming more
and more sophisticated?

3.4. Mooyns 3M-II8 “Decision-Making on the Solution of Ecological
Problems”, The Conditional sentences (Type O, I, II, l11); nepexnao mexcmy 3a
Gaxom ma nepexnad cycnilbHO-NOJIMUYHO20 MEKCMY 3 AH2NIUCHKOI HA
VKPAIHCbK) MOBY.

Jlireparypa: [1, c. 80-91], [2, c. 59-60], [6, c. 121-138]
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3.4.1. TloByanHs
a) Text A. “Decision-Making on the Solution of Ecological Problems .
1. [IpounTaTu TEKCT aHTIHCHKOIO MOBOIO.
2. BunncaTy 3 TEKCTy HOBI CJI0OBa Ta 3pOOHTH 1X TIEpEeKIal.
3. YCHO mepeKs1acTu TeKCT 3 aHTJIIIChKOI Ha YKPaiHChKY MOBY.

4. Tlepeka3aTu TEKCT.

b) Homamne yntanus. [lepexnan TeKCTy 3a axom.

1. CamocTiiiHO BUOpATH TEKCT 3 aHIJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HaKIB

2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH X MEpeKIal.

3. YCcHO nepekiiacTi TeKCT 3 aHTJIACHKOT Ha YKPAiHChKY MOBY.

4. ITucpmoBe Summary.

5. Ycue Summary

c) JomarrHe ynTaHHs (MIEPEKIIa CyCITbHO-TIOJITHYHOTO TEKCTY)

1. CamocTiitHO 00paTu TEKCT 3 aHrJIOMOBHOI razetu (2500 ap.3HaKiB)
2. BunucaTu 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH iX NEpEKIa.
3. YCHO nepeKI1acTu TEKCT 3 aHIIHCHhKOI Ha YKPAiHChKY MOBY.
4. TTucpmoBe Summary.
5. Ycue Summary
d) Grammar:
The Conditional sentences (Type 0, I, 11, 111)

1. 3poOuTH KOHCIIEKT MPaBUJI BXKMBAHHS YMOBHHUX PEUYEHb Ta iX CTPYKTYpHU
MoOYyJOBU B PEUCHHSX.
2. BukoHaTu TpeHyBaJIbHI TpaMaTU4H1 BIIPABH.

3.4.2. IlutanHs 1151 caMOTIEPEBIPKU

15.1s it possible to speak about the target behavior of a system in a certain
environment?

16.Why must we obtain necessary information?

17.What do you know about anthropo-ecological system?

18.What is the difference between the target behavior and adaptation of
behavior?

19.What can we say from the viewpoint of social economic development?
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20.Why must the barriers of natural conditions be learned?

21.What do you know about the process of cognition of natural and social laws?

22.What are trajectory variants?

23.What is one of the serious problems of the decision-making process in the
solution of ecological problems?

24.What have many scientists already agreed?

25.In what solution does all branches of natural and social sciences intervene?

26.1s this certainly a generally acceptable view?

27.With what does its implementation meet?

28.What is the main problem of the specialized terminology?

29.Why do conflicts occur among specialists?

30.What is another problem of such inter-disciplinary cooperation?

31.Why is this discussion totally pointless?

32.What have we to realize?

3.5. Mooyns 3M-I19 “Strategy of National Ecological Policy of Ukraine Until
20207, Indirect speech; nepexnao mexcmy 3a gpaxom ma nepekiao cycniibHo-
NOAIMUYHO20 MEKCMY 3 AH2NTUCLKOI HA YKPAIHCLKY MOB).

Jlitepatypa: [1, c. 91-101], [2, c. 61-62], [4, c. 360-383]
3.4.1. [loBuanHs
a) Text A. “Strategy of National Ecological Policy of Ukraine Until 2020 .
1. [IpounTatu TEKCT aHTITIHCHKOIO MOBOIO.
2. BunucaTu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEpEeKIal.
3. YCcHO nepeKiacTu TEKCT 3 aHTJIHChKOI Ha YKPaiHChKY MOBY.

4. Ilepekas3aTu TEKCT.

b) domamne ynranns. [lepekian TeKCTy 3a haxom.

1. CaMoOcCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAKIB

2. Bunucatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX MEpeKIal.

3. YCHO nepeks1acTu TeKCT 3 aHIJIIChbKOI Ha yKpaiHChKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary
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¢) HomarHe ynTaHHs (IEPEKIa]] CYCIIbHO-TOJITHYHOIO TEKCTY)

1. CamocTiiiHO 00OpaTH TEKCT 3 aHIJIOMOBHOI1 ra3eTtu (2500 ap.3HaKiB)
2. Bunmcaty 3 TEKCTy HOBI CJIOBa Ta 3pOOHTH iX MEPEKIal.

3. YCHO nepeKs1acTu TEKCT 3 aHTJIIMChKOI Ha yKPaiHChKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary

d) Grammar:
Indirect speech

1. 3poOuTH KOHCIIEKT MpaBUJI BXKMBAHHS YMOBHUX PEUYEHb Ta IX CTPYKTYpHU
noOyZ0BH B pEUEHHSIX.
2. BukoHaTu TpeHyBaJIbHI FpaMaTH4HI BIPaBH.

3.4.2. [lutanHs 17151 cCaMOTIEPEBIPKU

What are the main problems of pollutant emissions?

What can we observe in our environmental?

What have the competent authorities been continuously registering up?

What position does Ukraine take according to UNESCO?

Why does the system of state governance in the area of protection of waters

require?

What can you say about drinkable water supply of Ukraine?

7. What are the main factors of sanitary and epidemiological well-being of
population?

8. What does pollution of water with nitrates cause?

9. Why is status of land resources in Ukraine close to critical?

10. Is the largest territory of Ukraine occupied by agricultural lands (71 per
cent), 78 per cent?

11. What can you say about forest resources in Ukraine?

12. Why doesn’t the system of management in the area of protection and
restoration of forests fully ensure?

13. What does biosphere of Ukraine count?

14. What can you say about a considerable decrease of landscape diversity in
Ukraine?

15.What is a strategic task in achieving the ecological balance of the territory of

Ukraine?

agbrwbE

o
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3.6. Mooyas 3M-IT10 “State ecological monitoring ”, Subjunctive mood.
Revision; nepexnao mexcmy 3a paxom ma nepekiao cycniibHo-noAmu4HoO20
MeKCmy 3 AH2NIUCbKOI Ha YKPAIHCLKY MOB).
Jlitepatypa: [1, c. 101-115], [2, c. 52-55], [6, c. 106-120]
3.4.1. [loBuanus

a) Text A. “State ecological monitoring .
1. [IpounTatu TEKCT aHTIIHCHKOIO MOBOIO.
2. BunucaTu 3 TEKCTy HOBI CJI0Ba Ta 3pOOUTH iX MEpeKIal.
3. YCHO nepekiacT TeKCT 3 aHTJIHCHKOT Ha YKPaiHChKY MOBY.

4. IlepekaszaTu TEKCT.

b) Homaiine untanus. [Tepekiam TeKCTY 3a Gaxom.

1. CaMocCTIiitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
1p.3HaKIB)

2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.

3. YCHO nepeKI1acTu TEKCT 3 aHIIHChKOI Ha YKPaiHCbKY MOBY.

4. TImcpmoBe Summary.

5. Ycue Summary

c) JlomarHe ynuTaHHs (MEPEKIIa CyCIIbHO-TOTITHYHOTO TEKCTY)

. CamocrTiifHO 00paTu TEKCT 3 aHTIIOMOBHOI razetu (2500 ap.3HaKiB)
. Bunrcatu 3 TekcTy HOBI ClioBa Ta 3p0OUTH iX MEPEKIIal.

. YCHO mepeKIIacTu TEKCT 3 aHTJINChKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN BN WN =

d) Grammar:
Subjunctive mood. Revision.

1. 3poOuTH KOHCIIEKT MTPaBWJI BXKMBAHHS YMOBHUX PEUEHB Ta X CTPYKTYpH
MoOYyIOBU B PEUCHHSX.
2. BukonaTtu TpeHyBalIbHI TpaMaTHYHI BIPABH.
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6.
7.
8.

9.

3.4.2. ITutanHs AJ11 cCaMOTIEPEBIPKU

What can you say about the subjects of the state environment monitoring
system?

What does the State Hydrometeorological Service (the Ministry of
Emergencies) monitor?

Why are the chemical composition of atmospheric precipitations and their
acidity under observation?

How many pollutants does the program of compulsory monitoring of air
quality include?

What does State Environmental Inspectorate (the Ministry of Environment)
provide?

How is water quality monitored?

What do water management organizations monitor?

What does Sanitary and Epidemiological Service (the Ministry of Health)
carry out?

What can you say about the responsibilities of monitoring systems?

10. What are the indicators of radioactive contamination?
11. What do the enterprises of the State Forestry Committee monitor and

assess?

12. What do the monitoring laboratories of the Ministry of Agricultural Policy

carry out?

13. What does the Ministry of Emergencies monitor within the 30-km zone

around the Chernobyl Nuclear Power Plant?

14.What does International Radioecology Laboratory of Chornobyl Centre for

Nuclear Safety monitor?

15. What must local authorities do to prevent further contamination?
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4. IMTAHHA 10 3AXOAIB IIOTOYHOT' O, IIICYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'paMaTuyHi 3aBAaHHS 10 MOJIYJIbHOI KOHTPOJIBHOI po0oTH Moyisa 3M-II5.
Module control work Ne 5

[2, c. 38 —42], [3, c. 85— 100]
I. Grammar Test (The Infinitive)
Put the right form of the Infinitive:

1. There is nothing (to done). [2, c. 38 — 42], [3, c. 85 — 100]

2. You'll have to attend preparatory courses to be able (to enter) the university.
[2, c. 38 —42], [3, c. 85 —-100]

3. He is said (to leave) school. [2, c. 38 — 42], [3, c. 85 — 100]

4. What is your opinion about the steps (to take) in order to help the pupils in
their studies? [2, c. 38 — 42], [3, c. 85— 100]

5. They must (to argue) about the right occupation to choose. [2, c. 38 — 42], [3,
c. 85-100]

6. (To teach) is a responsible task. [2, c. 38 — 42], [3, ¢. 85 — 100]

7. My sister is glad (to teach) English. [2, c. 38 —42], [3, c. 85— 100]

8. I'm sorry (not to help) you. [2, c. 38 —42], [3, c. 85 — 100]

9. It seems (to rain) since the very morning. [2, c. 38 — 42], [3, c. 85 — 100]

10.They are glad (to be taught) by such outstanding teachers. [2, c. 38 — 42], [3,
c. 85 -100]

11. I'm sure very soon | shall be sorry (not to speak) with you about it. [2, c. 38 —
42], [3, c. 85— 100]

12.When she felt worse, she was sorry (not to consult) the doctor. [2, c. 38 — 42],
[3, c. 85 —-100]

13.1 know that when | return to town in autumn, my friend is sure (to work) at
her thesis. [2, ¢. 38 — 42], [3, c. 85— 100]

14.0ur teacher is glad (to teach) such clever students. [2, c. 38 —42], [3, c. 85 —
100]

15.She is said (to write) a new book. [2, c. 38 —42], [3, c. 85— 100]

16.Why didn't you (to come) yesterday? [2, c. 38 — 42], [3, c. 85— 100]

17.1 am sorry (to wait for) you for the whole evening. [2, ¢. 38 —42], [3, c. 85 —
100]

18.1 intended (to show) you my collection of snapshots. [2, c. 38 — 42], [3, c. 85
—100]
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19.They are said (to be) rather good. [2, c. 38 — 42], [3, c. 85— 100]

20. Tomorrow I shall be busy: | expect (to read) for the examination all day long.
[2, c. 38 —42], [3, c. 85— 100]

21.The examination is said (to be) very difficult. [2, c. 38 — 42], [3, c. 85 — 100]

22.0ur students are very glad (to give) consultations. [2, ¢. 38 — 42], [3, c. 85 —
100]

23.1'm so glad (to give) the necessary explanations at the last consultation. [2, c.
38-42],[3, c. 85-100]

24.He ( to know) to speak English well. (SIC) [2, ¢.40-42], [ 3, ¢.94-97].

25.She is said (to work) much. [2, c. 38 — 42], [3, c. 85— 100]

26.My father is considered (to make) an extraordinary discovery. [2, c. 38 — 42],
[3, c. 85— 100]

27.This man is believed (to achieve) much in the field of science. [2, c. 38 — 42],
[3, c. 85 —-100]

28.She is sure (to come). [2, ¢. 38 — 42], [3, c. 85— 100]

29.He didn't seem (to hear) the news. [2, c. 38 — 42], [3, c. 85 — 100]

30.My friend happened (to be) at home. [2, c. 38 — 42], [3, c. 85— 100]

31.She didn't prove (to be) a well-read person. [2, c. 38 — 42], [3, c. 85 — 100]

32.The mother is certain (to return) soon. [2, c. 38 — 42], [3, ¢. 85— 100]

33.She is not likely (to do) it. [2, ¢.40-42], [ 3, c.94-97].

34.Sandra managed (to find) a solution. [2, c. 38 — 42], [3, c. 85— 100]

35.His language skills seem (to improve). [2, c. 38 — 42], [3, c. 85 — 100]

36.Andrew hates (to get up) early in the morning. [2, c. 38 —42], [3, c. 85— 100]

37.Dave agreed (to meet) his friends at the café tomorrow evening. [2, ¢. 38 —
42], [3, c. 85 - 100]

38.1 can’t stand (to live) in the countryside. [2, c. 38 — 42], [3, c. 85 — 100]

39.What are you going to do after (to finish) school? [2, c. 38 — 42], [3, c. 85 —
100]

40.Mike warned his sister not (to come) back late. [2, c. 38 —42], [3, c. 85— 100]

41.We usually learn (to read) at school. [2, c. 38 — 42], [3, c. 85— 100]

42.Ann didn’t know what (to answer). [2, ¢. 38 —42], [3, c. 85 — 100]

43.George practices (to swim) twice a week. [2, c. 38 —42], [3, ¢. 85 — 100]

44.My dad gave up (to smoke) a long time ago. [2, c. 38 —42], [3, c. 85 — 100]

45.1 would like (to visit) Brazil this summer. [2, c. 38 —42], [3, c. 85 —100]

46.Ken failed (to make) new friends at school. [2, c. 38 —42], [3, c. 85— 100]

47.Have you ever thought of (to grow) your own fruit and vegetables? [2, c. 38 —
42], [3, c. 85— 100]

48.We arranged (to return) back home on 10 of June. [2, c. 38 — 42], [3, c. 85 —
100]
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49.1 happened (to wait) for the bus when the accident happened. [2, c. 38 — 42],
[3, c. 85 —100]

50.You must (to joke). [2, c. 38 —42], [3, c. 85— 100]

51.We (to wait) for ages. [2, c. 38 —42], [3, c. 85 —100]

52.1f you had run a bit faster, you would (to win). [2, c. 38 —42], [3, c. 85— 100]

53.1 am glad (to hear) it. [2, c. 38 — 42], [3, c. 85— 100]

54.He seems (to write) much. [2, ¢. 38 — 42], [3, ¢. 85— 100]

55.He is reported (to write) a new novel. [2, c. 38 — 42], [3, ¢. 85— 100]

56.She ought (to tell) the truth. [2, c. 38 — 42], [3, c. 85 — 100]

57.This house seems (to rebuild) already. [2, c. 38 —42], [3, c. 85— 100]

58.1 don’t (to understand) this text. [2, c. 38 —42], [3, c. 85 —100]

59.1 happened (to ask) her about you when you came in. [2, ¢. 38 — 42], [3, c. 85
—100]

60.He seems (to ask) wrong people. [2, c. 38 — 42], [3, c. 85— 100]

[1, c. 45-46]
I1. Fill the gaps:
The Ecosystem

The ecosystem is defined as a unit of biosphere which has the structural
and functional aspects. It consists of the community and physical environment

including interactions between them. It was in the year 1935 by the
Tansley.
The can be temporary which includes the rain water pond. It

can be permanent also. They may be natural which includes the rivers. They are
also manmade which includes the aquarium. It can be small which includes the
pond or a drop of water. It can be large which includes the ocean. There is a small
ecosystem own as the micro ecosystem. The distinct community consisting of
number of species forms an ecosystem.

The ecosystem consists of two components which are known as the biotic
and abiotic. The biotic component includes the autotrophs, heterotrophs and the
reducers. They form the living members of an ecosystem. These
are related by the food mainly. The food transfers the matter and energy to the
outside world. The autotrophs are also known as the producers. They make the
food by the process of photosynthesis from the . They not only make
their food but also r the other organisms. They absorb the energy from sun and
convert into the chemical energy. They release oxygen. The organic compounds
release energy during . They are also referred as the transducers as
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they can one form of energy to the other form. The organic compounds
which are formed play an important role in of bodies and help in the
release of energy. They maintain the ratio of gases which help to maintain the
balance of . The heterotrophs are not able to make their own food. It
includes the zooplankton, larvae, bugs, higher animals and vertebrates. They are
also as the consumers. They are of different types. Basically, they
are of herbivores and carnivores type.

A) ecosystem, B) introduced, C) components, D) respiration, E) the building,
F) known, G) different, H) inorganic materials, 1) nature, J) convert.

4.2. I'paMaTyyH1 3aBaHHS 10 MOJIYJIbHOI KOHTPOJIbHOI po0oTH Moy 3M-I16.

Module control work Ne 6
[2, c. 47 —50], [3, . 113 — 123]
I. Grammar Test (The Gerund)
Put the right form of the Gerund:

1. I don't like (to sit) in a room in such weather. [2, c. 47 —50], [3, c. 113 — 123]

2. When will the (sit) of the literary circle be held? [2, c. 47 — 50], [3, c. 113 —
123]

3. You can find the sender's address at the (begin) of the letter. [2, c. 47 — 50],

[3,c. 113 —123]

(To walk) is very useful. [2, c. 47 —50], [3, c. 113 — 123]

You may finish this discussion after my (to leave). [2, ¢. 47 —50], [3, c. 113 —

123]

6. After (to finish) their homework the children went out to play. [2, ¢. 47 — 50],

[3,c. 113 —123]

The telephone is (to ring). [2, ¢. 47 — 50], [3, ¢. 113 — 123]

8. What do you mean by (to come) to the lesson without reading the story? [2, c.
47 -50], [3, c. 113 - 123]

9. On every floor of the hotel there are rooms for (to wash). [2, c. 47 —50], [3, c.
113 - 123]

10.They enjoyed (to sit) in the sun and (to bath) in the river. [2, c. 47 — 50], [3, c.
113 - 123]

11.There is no hope of our (to get) home before 7 o'clock. [2, c. 47 — 50], [3, c.
113 - 123]

o B

~

69



12.He returned home after a year's absence, it was a happy (to meet). [2, c. 47 —
501, [3, c. 113 - 123]

13.1 like (to invite) friends to my house. [2, c. 47 — 50], [3, c. 113 — 123]

14.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113
—123]

15.She was proud (to see) this famous writer. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

16.1've no objections (to be asked) about it. [2, c. 47 — 50], [3, c. 113 — 123]

17.She's quite sure of (to ask) him about his travel. [2, c. 47 — 50], [3, c. 113 —
123]

18.1 do not like (to attract). [2, c. 47 — 50], [3, c. 113 — 123]

19.Soames had the peculiar to (feel) of having overdone his own honesty. [2, c.
47 -50], [3, c. 113 - 123]

20.At every school she went she learned (to draw), besides being taught by her
father at home. [2, c. 47 —50], [3, c. 113 — 123]

21.1t is historically true. I loathe (to have) to admit it. [2, c. 47 — 50], [3, c. 113 —
123]

22.1t's no good to (try) to keep him here. [2, ¢c. 47 — 50], [3, ¢. 113 — 123]

23.She kept on (to laugh) at father. [2, c. 47 —50], [3, c. 113 - 123]

24.She stopped (to cry), looked up, said nothing. [2, c. 47 —50], [3, ¢c. 113 —123]

25.1 like (to invite) friends to my house. [2, c. 47 — 50], [3, c. 113 —123]

26.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113
—123]

27.1 have no objections to (to ask) about it. [2, c. 47 — 50], [3, c. 113 — 123]

28.(To travel) is a very pleasant thing. [2, c. 47 — 50], [3, ¢. 113 — 123]

29.1 don’t like the idea of (to walk) in the rain. [2, c. 47 —50], [3, c. 113 — 123]

30.After (to leave) her umbrella in the hall, she entered the living-room. [2, c. 47
—50], [3, ¢. 113 - 123]

31.What do you mean by (to come) to the lesson without (to read) the story? [2,
c. 47 -50], [3, c. 113 - 123]

32.0n every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3, c.
113 -123]

33.He felt better for (to write) the letter. [2, c. 47 — 50], [3, ¢. 113 — 123]

34.She enjoyed (to give) parties. [2, c. 47 —50], [3, c. 113 — 123]

35.1 remember laughing aloud, and the laugh (to carry) by the wind away from
me. [2, c. 47 - 50], [3, ¢. 113 - 123]

36.Nobody can go on (to live) without some belief. [2, c. 47 - 50], [3, c. 113 —
123]

37.1t is awfully hard work (to do) nothing. [2, c. 47 — 50], [3, c. 113 — 123]

38.My friend is fond of (to swim). [2, c. 47 —50], [3, ¢. 113 — 123]

39.At every school she went she learned (to draw) besides (to teach) by her father
at home. [2, c. 47 —50], [3, c. 113 —123]

40.1 like (to make) people happy. [2, ¢c. 47 —50], [3, ¢. 113 — 123]

41.No one could pass in or out without (to see). [2, ¢. 47 —50], [3, ¢. 113 — 123]
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42.She denies (to speak) with him. [2, c. 47 — 50], [3, c. 113 — 123]

43.1t is no use (to tell) like that to me. [2, c. 47 —50], [3, ¢. 113 — 123]

44.He turned at (to hear) her footsteps. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

45.He has no right to come bothering you and your father without (to be invited).
[2, c. 47 —50], [3, c. 113 —123]

46.Tom went on (to whitewash). [2, c. 47 — 50], [3, c. 113 — 123]

47.He did not remember (to see) in that room. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

48.The child deserves (to praise). [2, c. 47 —50], [3, c. 113 — 123]

49.1t looks like (to rain). [2, c. 47 —50], [3, c. 113 — 123]

50.1 hope you will forgive me (to disturb) you. [2, c. 47 —50], [3, c. 113 — 123]

51.1 said something about my clock (to be) slow? [2, c. 47 —50], [3, ¢. 113 - 123]

52.1 do not remember (to hear) the legend before. [2, c. 47 —50], [3, ¢. 113 - 123]

53.Are you quite sure of those words (to refer) to my brother? [2, c. 47 — 50], [3,
c. 113 -123]

54.Do not forget (to shut) the windows when you leave home. [2, c. 47 — 50], [3,
c. 113 -123]

55.1 am fond of (to give) presents. [2, c. 47 —50], [3, c. 113 — 123]

56.1 am fond of (to be given) presents. [2, c. 47 —50], [3, ¢c. 113 — 123]

57.You are responsible for (to give) him that job. [2, c. 47 —50], [3, c. 113 —123]

58.1 am sorry for (to be given) such a small scholarship. [2, c. 47 —50], [3, c. 113
—123]

59.0ne can (to learn) a lot by reading. [2, c. 47 — 50], [3, ¢. 113 —123]

60.She (to be surprised) at my coming. [2, c. 47 — 50], [3, c. 113 — 123]

[1, c. 55-56]
I1. Fill the gaps:

Global warming looms, in many people’s minds, as one of
threats facing the planet. Over the past 20 years researchers have gathered
evidence that the burning of fossil fuels is causing temperatures to rise. However,
the exact pace of global warming, as well as the size of mankind’s to
the warming trend, remain uncertain. Aside from these issues is the question of
precisely how greenhouse-gas emissions should be abated, assuming that they
need to be reduced at all. In a new paper for the Copenhagen Consensus project,
William Cline of the Centre for Global Development and the Institute for
International Economics these topics.

Rising temperatures are capable of causing great economic harm-though a
lot depends not just on how big future rises prove to be but also on how quickly
they happen. One estimate is that a doubling of atmospheric of
carbon dioxide would cost between 1% and 2.5% of global GDP, depending on
what kinds of damage you include.
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One study from America’s Environmental Protection Agency
the possible costs. Around a quarter of the total economic damage would fall on
farmers, who could no longer use some lands. Around a sixth of the total cost
would come in the form of increased cooling costs for homes and offices (net of
the reduced costs of heating). Rising sea levels, damage to drinking-water

and heatwaves would each account for 10%. Deforestation and rising
ozone pollution together would another 10%. And the economic
estimates exclude the “amenity value” — the price people would be willing to pay
to avoid rising for reasons of convenience.

Yet totting up such is far from straightforward. That is because
applying cost-benefit analysis to climate change is harder than for most public-
policy : many of the benefits will not be realized for decades or
centuries, while the costs of abatement will be felt today.

A) listed, B) examines, C) supplies, D) figures, E) the biggest, F) questions, G)
add, H) temperatures, 1) contribution, J) concentrations.

4.3. I'paMaTryH1 3aBAaHHS 10 MOJIYJIbHOI KOHTPOJIBHOI po0oTH Moayia 3M-I17.

Module control work Ne7

[2, c. 42 — 47], [3, ¢. 100 — 113]

I. Grammar Test (The Participle)
Put the right form of the Participle:

1. Is this seat (to take)? [2, c. 42 — 47], [3, ¢. 100 — 113]

2. The man (to stand) at the door helped the old woman to get off the bus. [2,
c. 42 —47], [3, c. 100 — 113]

3. (To see) that he was late he took a taxi. [2, c. 42 — 47], [3, c. 100 — 113]

What is this instrument (to use) for? [2, ¢c. 42 — 47], [3, ¢. 100 — 113]

5. Watches and cameras (to make) in Japan are very popular all over the world.
[2, c. 42 —47], [3, c. 100 — 113]

6. (To take) the child by the hand she hurried to the kindergarten. [2, c. 42 —47],
[3, c. 100 — 113]

7. (To receive) a letter, | usually answer it at once. [2, c. 42 — 47], [3, c. 100 —
113]

8. While (to prepare) for an examination, he always studies in the reading-hall.
[2, c. 42 —47], [3, c. 100 — 113]

B
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9. While (correct) the students' test-papers, the teacher underlined the mistakes
with a red pencil. [2, c. 42 — 47], [3, c. 100 — 113]

10. (To correct) by the teacher regularly, the exercises are very useful to the
students. [2, c. 42 — 47], [3, c. 100 — 113]

11. (To correct) the test-papers, the teacher returned them to the students. [2,
c.42—47],[3,c. 100 — 113]

12.(To be corrected) by the teacher yesterday, the students' test-papers will be
returned to them today. [2, c. 42 — 47], [3, c. 100 — 113]

13.(To hear) the sounds of music, they stopped talking. [2, c. 42 —47], [3, c. 100 —
113]

14.This is a church (to build) many years ago. [2, c. 42 — 47], [3, c. 100 — 113]

15.While (to examine), the boy could not help crying. [2, c. 42 — 47], [3, c. 100 —
113]

16.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, c. 100 — 113]

17.(To prescribe) the medicine, the doctor went away. [2, ¢. 42 —47], [3, ¢. 100 —
113]

18.(To show) the wrong direction, the travelers soon lost their way. [2, c. 42 —
471, [3, c. 100 — 113]

19.Time (to permit), we will go for a walk. [2, c. 42 — 47], [3, ¢. 100 — 113]

20.The treaty (to sign), trade was at once resumed. [2, c. 42 — 47], [3, c. 100 —
113]

21.The day (to be) finer and a little warmer than the previous one, he went out
again. [2, c. 42 - 47], [3, ¢. 100 — 113]

22.(Not to understand) the rule, he made many mistakes. [2, c. 42 — 47], [3,
c. 100 —113]

23.(To finish) the book, | had a holiday. [2, c. 42 — 47], [3, ¢. 100 — 113]

24.While (to understand) your problem, I don’t know how I can help. [2, c. 42 —
471, [3, c. 100 — 113]

25.(To find) only in the Andes, the plant is used by local people to treat skin
diseases. [2, c. 42 — 47], [3, c. 100 — 113]

26.(To wait) six weeks for the washing machine to be delivered, | decided to
cancel the order. [2, c. 42 — 47], [3, ¢. 100 — 113]

27.A line (to see) through this crystal looks double. [2, ¢c. 42 — 47], [3, c. 100 —
113]

28.(To open) her eyes, the baby began to cry. [2, c. 42 — 47], [3, ¢. 100 — 113]

29.(Not to understand) the rules, | found the cricket match boring. [2, c. 42 — 47],
[3, c. 100 — 113]

30.(To be) unemployed, Ben spent a lot of time filling in job application forms.
[2, c. 42 —47], [3, c. 100 — 113]
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31.(Not to hope) to be recognized, | chose a sit in a dark corner. [2, c. 42 — 47],
[3, c. 100 — 113]

32.(To look) after carefully, this plant can live through the winter. [2, c. 42 — 47],
[3, c. 100 — 113]

33.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, c. 100 — 113]

34.There (to be) little time left, we took a taxi. [2, c. 42 — 47], [3, c. 100 — 113]

35.(To lose) the key, the boy couldn’t get into the house. [2, c. 42 — 47], [3,
c. 100 —113]

36.Peter left the room (to say) that he was in a hurry. [2, c. 42 — 47], [3, c. 100 —
113]

37.(To think) that he was busy, | decided to call on him later. [2, c. 42 — 47], [3,
c. 100 —113]

38.(To graduate) from the university, | decided to return to my home city. [2,
c.42—47],[3,c. 100 — 113]

39.When (to speak) English, pay more attention to the word order. [2, c. 42 —47],
[3, c. 100 — 113]

40.(To run) across the field, | fell and hurt my ankle. [2, c. 42 — 47], [3, c. 100 —
113]

41.She stood silent, her lips (to press) together. [2, c. 42 — 47], [3, ¢. 100 — 113]

42.The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
c.42—47],[3,c. 100 —113]

43.He picked up the (to break) pencil. [2, c. 42 — 47], [3, c. 100 — 113]

44.\We admired the stars (to twinkle) in the sky. [2, c. 42 — 47], [3, c. 100 — 113]

45.(To reach) the classroom, she became the object of many questions. [2, c. 42 —
471, [3, c. 100 — 113]

46.This was (to say) as if thinking aloud. [2, c. 42 — 47], [3, c. 100 — 113]

47.When (to question) Ann kept silence. [2, c. 42 — 47], [3, c. 100 — 113]

48.The bag was (to lose) yesterday. [2, c. 42 — 47], [3, c. 100 — 113]

49.The effect of her words was (to terrify). [2, c. 42 — 47], [3, ¢. 100 — 113]

50.We heard the wheels of the dog-cart (to crash) on the gravel of the drive. [2,
c.42 - 47],[3,c. 100 — 113]

51.She has found me (to unalter). [2, c. 42 — 47], [3, ¢. 100 — 113]

52.Presently other footsteps were heard (to cross) the room below. [2, c. 42 —47],
[3, c. 100 — 113]

53.Generally (to speak), | don't like boys. [2, c. 42 — 47], [3, c. 100 — 113]

54.The taxi could be seen (to wait) outside. [2, c. 42 — 47], [3, c. 100 — 113]

55.She had (to draw) room decorated. [2, c. 42 —47], [3, c. 100 — 113]

56.Get your things (to pack). [2, c. 42 — 47], [3, c. 100 — 113]

57.The two men were heard (to descend). [2, ¢c. 42 —47], [3, ¢. 100 — 113]
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58.There was sunlight (to come) in through the shutters. [2, c. 42 — 47], [3,
c. 100 —113]

59.A cold wind swept the pavement, (to bear) a scrap of silver paper from a
chocolate box across the lamplight. [2, c. 42 — 47], [3, c. 100 — 113]

60.1 am going to Rome (to have) friends there. [2, c. 42 — 47], [3, c. 100 — 113]

[1, c. 66-67]
I1. Fill the gaps:
The Grand Canyon

The Grand Canyon of the Colorado River is the largest gorge in the world-
a 290-mile-long gash across the face of the Colorado Plateau in Arizona.
Rim to rim, it measures up to 18 miles across, with an average width of 10 miles;
its average depth is one mile. Within this Delaware-size area of eroded rock rise
mountains higher than any in the eastern United States and that dark walls of
gorges of years old. Agent of this scene, the Colorado River drops
2,200 feet over nearly 200 rapids as it roars through the Canyon the Gulf
of California.

Numbers, though, tell only of the canyon's story and merely hint
at the magic of its myriad hues, strata, spires and gorges. The place is more than
the sum of its parts-so much more that neither the eye nor the mind of the beholder
can more than a small part of it at one time. As John Wesley Powell,
whose party in 1869 became the first to traverse the canyon by river, wrote, “You
cannot see the Grand Canyon in one view, as if it were a changeless
from which a curtain might be lifted.”

At the canyon's bottom, a mile below the rim, the Colorado River slices
through Granite. Gorge, some of the oldest rocks visible anywhere on
the earth. Nearly two billion years old, the Vishnu schist is the gleaming black

of a once towering mountain range. Some 500 million years after it
formed, vast rifting and faulting laid it down the tilted, sediments of
the Grand Canyon Series atop schist. Ten distinct layers of sandstone, limestone,
and shale bespeak the advance and retreat of seas, the building up and
wearing down of mountains, the meandering of rivers over 600 million years.

A) encompass, B) toward, C) remnant, D) spectacle, E) millions, F) colorful,
G) ancient, H) exposing, I) northern, J) part.
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4.4, I'pamaTryH1 3aBJAaHHS 10 MOAYJIBHOI KOHTPOJBHOI poboTu Moyt 3M-118.

Module control work Ne8

[2, c. 59 —60], [3, c.58 —60]

I. Grammar Test (The Conditional Sentences)

Put the right form of the verb in Conditional Sentences:

1. If I (to be free) tomorrow, I shall join you with pleasure. [2, c. 59 — 60], [3,
.58 —-60]

2. If your brother (to be) here now, he will be surprised at your behaviour and |
am sure he would not approve of it. [2, ¢. 59 — 60], [3, ¢.58 —60]

3. If we (to be) not writing this exercise now | should give you my pen. [2, c.
59 - 60], [3, ¢.58 —60]

4. If it (to be raining) now, the children would not be running about in the
garden. [2, c. 59 — 60], [3, ¢.58 —60]

5. If the students (to work) regularly they will pass their exams. [2, ¢. 59 — 60],

[3, c.58 —60]

| would come at once, if you (to be) really ill. [2, c. 59 — 60], [3, ¢.58 —60]

If you I had met her I (to tell) her about it. [2, c. 59 — 60], [3, ¢.58 —60]

8. If I leave town I never (to tell) my people where | am going. [2, ¢. 59 — 60],
[3, ¢.58 —60]

9. You will get good results if you (to apply) this method of calculation. [2, c.
59 - 60], [3, ¢.58 —60]

10.1f they (to find) the exact meanings of these words, they will understand the
text easily. [2, ¢. 59 — 60], [3, ¢.58 —60]

11.1f the wind (to be) favourable, the ship would reach the port of destination
early in the morning. [2, c. 59 — 60], [3, ¢.58 —60]

12.The results of the experiment (to be) much better if he had used the new
equipment. [2, ¢. 59 — 60], [3, ¢.58 —60]

13. (To be) the vapour cooled below its dew point, some of it would become
liquid. [2, c. 59 — 60], [3, ¢.58 —60]

14.Most lakes and rivers would dry up if they (to depend) solely upon
precipitation for their store water. [2, ¢. 59 — 60], [3, ¢.58 —60]

15.1f all the atmospheric moisture (to be) precipitated it would create a layer
averaging only one inch in depth over the entire globe. [2, c. 59 — 60], [3,
.58 —60]

16.1f you (not to buy) coffee, we shall drink tea. [2, c. 59 — 60], [3, ¢.58 —60]

17.1f he is free tomorrow, he certainly (to come) to our party. [2, c. 59 — 60], [3,
.58 —60]

~N o
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18.My brother would not have missed so many lessons if he (not to hurt) his
leg. [2, c. 59 — 60], [3, ¢.58 —60]

19.1f my friend (to work) in my office, we should meet every day. [2, c. 59 —
60], [3, c.58 —60]

20.1f you spoke English every day, you (to improve) your language skills. [2, c.
59 —60], [3, ¢.58 —60]

21.1f you get a "five", your mother (to be) happy. [2, c. 59 — 60], [3, ¢.58 —60]

22.1f she (to return) earlier, she would have been able to see him before he left.
[2, c. 59 —60], [3, .58 —60]

23.1f these shoes were not too big for me, | (to buy) them. [2, c. 59 — 60], [3,
.58 -60]

24.1f you (to ring) me up, | shall tell you a secret. [2, c. 59 — 60], [3, ¢.58 —60]

25.1f you (to be) a poet, you would write beautiful poetry. [2, c. 59 — 60], [3,
.58 -60]

26.1f he did not read so much, he (not to know) English literature so well. [2, c.
59 - 60], [3, ¢.58 —60]

27.1f he (to come) to our house yesterday, he would have met his friend. [2, c.
59 —60], [3, ¢.58 —60]

28.1f he (not to pass) his examination, he will not get a scholarship. [2, c. 59 —
60], [3, c.58 —60]

29.1f she (not to help) me, I should have been in a very difficult situation. [2, c.
59 —60], [3, ¢.58 —60]

30.My father would have more free time if he (not to read) so many
newspapers. [2, c. 59 — 60], [3, ¢.58 —60]

31.1f only you had let me know, | (to go) there immediately. [2, c. 59 — 60], [3,

.58 -60]

32.1f | were a famous singer, | (to get) a lot of flowers every day. [2, ¢. 59 — 60],
[3, ¢.58 —60]

33.1f my brother (to be) in trouble, I shall help him, of course. [2, ¢. 59 — 60],
[3, c.58 —60]

34.1f | don't manage to finish my report today, | (to stay) at home tomorrow. [2,
c. 59 - 60], [3, ¢.58 —60]
35.1f she is more careful about her diet, she (not to be) so stout. [2, c. 59 — 60],

[3, ¢.58 —60]

36.You would not feel so bad if you (not to smoke) too much. [2, c. 59 — 60],
[3, ¢.58 —60]

37.1f he (to learn) the poem, he would not have got a bad mark. [2, c. 59 — 60],
[3, ¢.58 —60]

38.1f you gave me your dictionary for a couple of days, | (to translate) this text.
[2, c. 59 - 60], [3, ¢.58 —60]

39.1f I (to be) a musician, I should be very happy. [2, ¢. 59 — 60], [3, ¢.58 —60]

40.1f Barbara (to get) up at half past eight, 8 would have been late for school. [2,
c. 59 - 60], [3, c.58 —60]
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41.1f you had not put the cup on the edge of the table, it (not to break). [2, c. 59
—60], [3, ¢.58 —60]

42.1 should be very glad if he (to come) my place. [2, c. 59 — 60], [3, ¢.58 —60]

43.1f he (to live) in Odessa, he would go to the sea every week. [2, ¢. 59 — 60],
[3, c.58 —60]

44.1f you (to go) to the theatre with us last week, you would have enjoyed the
evening. [2, ¢c. 59 — 60], [3, ¢.58 —60]

45.You won't understand the rule if you (not to listen) to the teacher. [2, c. 59 —
60], [3, c.58 —60]

46.1f he weren't such a bookworm, he (not to spend) so much time sitting in the
library. [2, c. 59 — 60], [3, ¢.58 —60]

47.1 should not have bought the car if my friend (not to lend) me money. [2, c.
59 - 60], [3, ¢.58 —60]

48.1f he did not live in Lviv, we (not to meet) so often. [2, c. 59 — 60], [3, ¢.58 —
60]

49.1f he had warned me, I (to do) the work in time. [2, c. 59 — 60], [3, ¢.58 —60]

50.1f I (to have) this rare book, | should gladly lend it to you. [2, c. 59 — 60], [3,
.58 —60]

51.The dish would have been much more tasty if she (to be) a better cook. [2, c.
59 —60], [3, ¢.58 —60]

52.He never (to phone) you if | hadn't reminded him to do that. [2, ¢. 59 — 60],
[3, c.58 —60]

53.Your brother (to become) much stronger if he took cold baths regularly. [2,
c. 59 - 60], [3, c.58 —60]

54.1f he (to be) more courageous, he would not be afraid. [2, c. 59 — 60], [3,
.58 -60]

55.1f the fisherman had been less patient, he (not to catch) so much fish. [2, c.
59 - 60], [3, ¢.58 —60]

56.1f you (to put) the ice cream into the refrigerator, it would not have melted.
[2, c. 59 —60], [3, .58 —60]

57.1f I (to know) the result now, | would phone her immediately. [2, c. 59 — 60],
[3, c.58 —60]

58.1f you had let me know yesterday, | (to bring) you my book. [2, ¢. 59 — 60],
[3, c.58 —60]

59.1f it (to snow), the children will play snowballs. [2, ¢c. 59 — 60], [3, ¢.58 —60]

60.1f I (not to know) English, I should not be able to enjoy Byron's poetry. [2, c.
59 —60], [3, c.58 —60]
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[1, c. 81]
I1. Fill the gaps:

Here we come to the important task for in social practice and, at
the same time, to the methodological problems arising in the preparation of such
an inter-disciplinary document. It is not only matter of a 'different language’ of
different scientific methods in individual disciplines, but it sometimes
the debate on the fundamental issues of the scientific work. When has an exact
scientist the right or the duty to come out of the shell of his narrow and countless
verified laboratory to take up an attitude to an issue which is only
vaguely related to his subject, and therefore only lends itself to a
analogy? And yet who has the right to derive such an analogy, if not the specialist
of the respective field?

Consequently, conflicts among specialists of the natural and
social sciences, where each is trying to impose the priorities of his viewpoint as
the 'nation-wide' interest. Another problem of such an interdisciplinary
Is the discussion between the analytics and synthetics in each individual scientific
discipline of groups. In social sciences as well there are experts,
specialized in some partial problems, who study the most minute details and, on
the other hand, there are also natural scientists with a broad ecological orientation
and an insight into scientific disciplines. The analytists reproach these
‘encyclopedists' for 'knowing nothing about everything, while the synthetists
laugh at the narrow specialists for 'knowing everything about nothing. The

goes as far as the issue of 'science an non-science, where only exact
experimental work as scientific, while its processing as a basis for
decision-making is considered as non-scientific compilation.

A) experiment, B) both, C) occur, D) several, E) discussion, F) is considered,
G) concerns, H) science, I) cooperation, J) remote.
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4.5. I'pamaTryH1 3aBJaHHS 10 MOAYJIBHOI KOHTPOJBHOI poboTu Moyt 3M-119.

Module control work Ne9
[2, c. 61 -62], [3, C. 44 - 47]
I. Grammar Test (The Indirect speech)

Put the right form of the verb in the Indirect Speech:

=

| knew they (to wait) for me at the metro station and | decided to hurry. [2,

.61 -62], [3, c. 44 —47]

2. | didn't know that you already (to wind) up the clock. [2, c. 61 —62], [3, c. 44 —
47]

3. ' was afraid that the little girl (not to be) able to unlock the front door and (to
go) upstairs to help her. [2, c. 61 —62], [3, c. 44 — 47]

4. He says that he (to know) the laws of the country. [2, c. 61 — 62], [3, c. 44 —
47]

5. Sarie understood why Lanny (not to come) the previous evening. [2, c. 61 —
62], [3, c. 44 — 47]

6. She asked me whether | (to remember) the legend about a faithful lion. [2,
c.61-62], [3,c. 44 - 47]

7. He understood that the soldiers (to arrest) him. [2, c. 61 — 62], [3, c. 44 — 47]

8. He could not understand why people (not to want) to take water from that well.
[2, c. 61 —-62], [3, c. 44 — 47]

9. | suppose they (to send) a dog after the burglar immediately. [2, c. 61 — 62],
[3, c. 44 —47]

10.He said he (to leave) tomorrow morning. [2, c. 61 — 62], [3, c. 44 — 47]

11.She says she already (to find) the book. [2, c. 61 — 62], [3, c. 44 — 47]

12.He stopped and listened: the clock (to strike) five. [2, c. 61— 62], [3, c. 44 —
47]

13.She said she (can) not tell me the right time, her watch (to be) wrong. [2,
c.61-62], [3,c. 44 —47]

14.1 asked my neighbour if he ever (to travel) by air before. [2, c. 61 — 62], [3,
c. 44 — 47]

15.The policeman asked George where he (to run) so early. [2, c. 61— 62], [3,
c. 44 — 47]

16.The delegates were told that the guide just (to go) out and (to be) back in ten
minutes. [2, ¢. 61 —62], [3, c. 44 — 47]

17.My friend asked me who (to play) the piano in the sitting room. [2, c. 61 —62],
[3, c. 44 — 47]

18.He said he (to come) to the station to see me off. [2, c. 61 — 62], [3, c. 44 — 47]
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19.1 was sure he (to post) the letter. [2, c. 61 — 62], [3, c. 44 — 47]

20.1 think the weather (to be) fine next week. [2, c. 61 — 62], [3, c. 44 — 47]

21.1 knew that he (to be) a very clever man. [2, c. 61 — 62], [3, c. 44 — 47]

22.1 want to know what he (to buy) for her birthday. [2, c. 61— 62], [3, c. 44 —

47]
23.1 asked my sister to tell me what she (to see) at the museum. [2, c. 61 — 62],
[3, c. 44 — 47]

24.He said he (to stay) at the "Ritz" Hotel. [2, c. 61 — 62], [3, c. 44 — 47]

25.They realized that they (to loose) their way in the dark. [2, c. 61 — 62], [3,
C. 44 — 47]

26.He asked me where | (to study). [2, c. 61 — 62], [3, c. 44 — 47]

27.1 thought that | (to finish) my work at that time. [2, c. 61 — 62], [3, c. 44 — 47]

28.He says he (to work) at school two years ago. [2, c. 61 — 62], [3, c. 44 — 47]

29.Victor said he (to be) very busy. [2, c. 61 —62], [3, c. 44 — 47]

30.Tom said he (to go) to see the doctor the next day. [2, c. 61 — 62], [3, C. 44 —
47]

31.He told me he (to be) ill. [2, c. 61 — 62], [3, c. 44 — 47]

32.He told me he (to read) that book last week. [2, c. 61 — 62], [3, c. 44 — 47]

33.They told me that Tom (not to come) to school the day before. [2, c. 61 — 62],
[3, c. 44 — 47]

34.1 told my sister that she (must) catch cold. [2, c. 61 —62], [3, c. 44 — 47]

35.She told me she (to catch) cold. [2, c. 61 — 62], [3, c. 44 — 47]

36.He said that while crossing the English Channel they (to stay) on deck all the
time. [2, c. 61 — 62], [3, . 44 — 47]

37.The woman said she (to feel) sick while crossing the Channel. [2, c. 61 — 62],
[3, c. 44 —47]

38.She said she (to feel) bad that day. [2, c. 61 — 62], [3, c. 44 — 47]

39.The old man told the doctor that he (to have) pain in his right side. [2, c. 61 —
62], [3, c. 44 — 47]

40.He said he just (to be examined) by a good doctor. [2, c. 61 — 62], [3, c. 44 —
47]

41.He said (not to come) to school until Monday. [2, c. 61 — 62], [3, c. 44 — 47]

42.The man said he (to spent) a month at a health resort. [2, ¢c. 61 —62], [3, . 44 —
47]

43.He said that his health greatly (to improve) since then. [2, c. 61 - 62], [3,
c. 44 — 47]

44.She said that her brother (to play) chess with her grandfather. [2, c. 61 — 62],
[3, c. 44 — 47]

45.George said it (to be) very difficult to play that role. [2, c. 61 —62], [3, c. 44 —
47]

46.He asked why there (to be) so few people in the street. [2, c. 61— 62], [3,
c. 44 — 47]
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47.The man asked the boy if he (to know) where he lived. [2, c. 61— 62], [3,
c. 44 — 47]

48.The woman told him (not to worry) and go home quietly. [2, c. 61 — 62], [3,
c. 44 — 47]

49.She said that she (to sleep) in the open air. [2, c. 61 — 62], [3, c. 44 — 47]

50.She asked me why | (to tell) her the truth. [2, c. 61 — 62], [3, c. 44 — 47]

51.She asked me if I (to see) him before. [2, c. 61 — 62], [3, C. 44 — 47]

52.She said that she (to come) and see us on Friday if that was all right. [2, c. 61 —
62], [3, c. 44 — 47]

53.She promised me that she (to finish) writing the report by the time you get
here. [2, c. 61 — 62], [3, C. 44 — 47]

54.He agreed that it (to be) a very difficult time for all of them. [2, c. 61 — 62],
[3, c. 44 — 47]

55.He told me that I (to work) too hard and | (to take) more time off. [2, c. 61 —
62], [3, c. 44 — 47]

56.She said that her new computer (to make) a lot of difference to her. [2, c. 61 —
62], [3, c. 44 — 47]

57.He said he (to take) many photographs while travelling in the Caucasus. [2,
c.61-62],[3,c. 44 —47]

58.He said that he (to come) to see us on Sunday. [2, c. 61 — 62], [3, c. 44 — 47]

59.He said it (to do) him a lot of good. [2, c. 61 — 62], [3, c. 44 — 47]

60.He said he (to feel) better then. [2, c. 61 — 62], [3, c. 44 — 47]

[1, c. 92-93]

I1. Fill the gaps:

Water in Ukraine is being used mainly inefficiently, non-productive
consumption of water increase volume of water resources to be used
decreases due to pollution and . Practically all surface water sources
and ground waters are polluted. Main substances, which cause pollution, —
compounds of nitrogen and phosphorus, , Which are exposed to
light oxidation, pesticides, oil products, heavy metals, phenols. Intensive
euthrofication of inland water bodies cause worsening of status of Black and
Azov seas.

By level of efficient of water resources and quality of water
Ukraine, according to UNESCO, takes 95-th position among 122 countries.

The system of state governance in the area of protection of waters

immediate reforming towards transfer to integrated management of

water resources. Functions of management in the are of protection, usage and

restoration of waters are allocated between different central executive authorities
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that result in their overlapping, different of provisions of
environment protection legislation and inefficient usage of budget funds.
Drinkable water supply of Ukraine almost by 80 per cent by
usage of surface waters. Ecological status of surface water bodies and quality of
water in such bodies are the main factors of sanitary and epidemiological
of population. At the same time most of water bodies by level of
pollution are attributed to those, which are polluted and much polluted.
Underground waters of Ukraine in many regions by their quality do not meet
the regulative to sources of water supply; it is related mainly to
anthropogenic pollution. Status of water supply to rural population is of a peculiar
concern as the centralized water supply only 25 per cent of rural
settlements of Ukraine.

A) usage, B) well-being, C) interpretation, D) organic substances, E)
requirements, F) covers, G) is ensured, H) suitable, 1) requires, J) depletion.

4.6. 'pamMaTryHi 3aBIaHHS 10 MOIYJIHHOI KOHTPOJIBHOI pOOOTH MO Tyt 3M -
I110.

Module control work Nel0

[2, c. 51 —55], [3, ¢. 56 — 65]

I. Grammar Test (The Subjunctive Mood)

Put the right form of the verb in the Subjunctive mood. Revision:

1. The unfortunate pupil wished he (not to forget) to learn the rule. [2, c. 52 —
55], [3, c. 61 — 62].

2. 1 wish | (to have) a season ticket to the Philharmonic next winter. [2, c. 52 —
55], [3, c. 61 — 62].

3. I wish | (to consult) the teacher when | first felt that mathematics was too
difficult for me. [2, c. 52 — 55], [3, c. 61 — 62].

4. 1 love sunny weather. | wish it (to be) warm and fine all the year round. [2,
c. 52 -55], [3, c. 61 - 62].

5. I wish I (not to lend) Nick my watch: he has broken it. [2, c. 52 — 55], [3,
c.61-62].

6. | wish you (to send) word as soon as you arrive. [2, c. 52 —55], [3, c. 61 —62].

7. 1'wish I (not to have) to do my homework every day. [2, ¢. 52 —55], [3, ¢. 61 —
62].
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8. I'wish you (to go) skiing with me yesterday: | had such a good time! [2, ¢. 52 —
55], [3, c. 61 — 62].

9. I wish I (to know) Spanish. [2, c. 52 —55], [3, c. 61 — 62].

10.1 wish | (not to drink) so much coffee in the evening: | could not sleep half the
night. [2, c. 52 — 55], [3, c. 61 — 62].

11.1 wish you (to read) more in future. [2, ¢. 52 — 55], [3, c. 61 — 62].

12.1 wish | never (to suggest) this idea. [2, c. 52 — 55], [3, c. 61 — 62].

13.1 wish | (to be) at yesterday's party: it must have been very merry. [2, c. 52 —
55], [3, ¢. 61 — 62].

14.1 wish we (to meet) again next summer. [2, c. 52 — 55], [3, c. 61 — 62].

15.Don't you wish you (to see) that performance before? [2, c. 52 —55], [3, . 61 —
62].

16.They wished they (not to see) this horrible scene again. [2, c. 52 — 55], [3,
c. 61 -62].

17.1 wish | (can) give up smoking. [2, c. 52 — 55], [3, c. 61 — 62].

18.She wishes she (to see) him at yesterday's party. [2, c. 52 —55], [3, ¢. 61 — 62].

19.1 wish | (to pass) my driving test last Monday. [2, ¢. 52 — 55], [3, c. 61 — 62].

20.1 wish | (not to forget) my friend's birthday yesterday. [2, c. 52 — 55], [3,

c. 61—62].

21.The boy is sad. He wishes he (not to break) the window. [2, ¢. 52 — 55], [3,
c. 61— 62].

22.My aunt wishes she (to stay) at home last weekend. [2, c. 52 — 55], [3, ¢. 61 —
62].

23.He wishes he (to know) something about cars. [2, ¢. 52 — 55], [3, c. 61 — 62].

24.1 wish it (to be) sunny. [2, ¢. 52 — 55], [3, c. 61 — 62].

25.1 wish it (to be) sunny during our picnic last Saturday. [2, c. 52 — 55], [3,
c. 61 -62].

26.She wishes she (to live) in Kyiv. [2, ¢. 52 - 55], [3, ¢. 61 — 62].

27.My friend wishes he (not to do) that last night. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

28.1 wish | (to bring) my camera last spring. [2, ¢. 52 — 55], [3, c. 61 — 62].

29.1 wish I (can) tell the future. [2, c. 52 —55], [3, c. 61 — 62].

30.Do you wish you (to be) in the Guinness Book of Records? [2, ¢. 52 — 55], [3,
c. 61— 62].

31.Some people wish they (can) appear on a TV game show and become famous.
[2, c. 52 —55], [3, c. 61 —62].

32.She often wishes things (to be) different. [2, c. 52 — 55], [3, c. 61 — 62].

33.1 wish I (to buy) that grey hat instead of this one. It was more expensive, but
the quality was much better. [2, ¢. 52 — 55], [3, c. 61 — 62].

34.1t looks like raining, | wish we (to take) our umbrellas. [2, c. 52 — 55], [3,
c. 61 -62].

35.The child is crying, | wish I (to know) how to calm her. [2, c. 52 — 55], [3,
c.61-62].
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36.1 wish you (to finish) your work already. We could go for a walk now. [2,
c. 52 - 55], [3, c. 61 — 62].

37.1 wish | (to know) it was your favourite writer. | would have bought the book
for you. [2, c. 52 — 55], [3, c. 61 — 62].

38.1 wish I (to know) French. [2, ¢. 52 — 55], [3, c. 61 — 62].

39.She fell and broke her leg. | wish she (to be) more careful. [2, ¢c. 52 — 55], [3,
c. 61— 62].

40.1 wish you (to read) more English books in future. [2, ¢. 52 — 55], [3, c. 61 —
62].

41.1 feel sick. I wish | (not to eat) all the ice cream. [2, ¢. 52 — 55], [3, c. 61 —62].

42.They need a singer for the choir. | wish | (can) sing. [2, c. 52 —55], [3, c. 61 —
62].

43. | wish | (to look after) my parrot better. [2, c. 52 — 55], [3, c. 61 — 62].

44.1 can't remember her telephone number. | wish | (can). [2, c. 52 — 55], [3,

c. 61 -62].
45.1 wish I (not to lend) him my car: he has broken it. [2, c. 52 — 55], [3, c. 61 —
62].

46.My watch has stopped. | wish | (to have) a better watch. [2, c. 52 — 55], [3,
c. 61—62].

47.1 feel so tired. I wish I (not to stay up) so late last night. [2, . 52 — 55], [3,
c. 61— 62].

48.My apartment is rather small. | wish | (to have) a bigger one. [2, c. 52 — 55],
[3,c. 61 —-62].

49.1 wish | (not to spend) all my money last night. [2, ¢. 52 — 55], [3, c. 61 — 62].

50.1 wish I (to know) the answer to this question. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

51.1 wish you (to phone) me yesterday. [2, c. 52 — 55], [3, ¢. 61 — 62].

52.1 wish | (to know) then what | know now. [2, c. 52 — 55], [3, c. 61 — 62].

53.1 wish you (to see) this film. I am sure you would like it. [2, c. 52 — 55], [3,
c. 61 -62].

54.1 wish you (to come) earlier. You should have gone to the museum together.
[2, c. 52 —55], [3, c. 61 —62].

55.1 wish you (to have) time to read this article. Now you would able to answer
all the questions. [2, c. 52 — 55], [3, c. 61 — 62].

56.1 wish you (to see) my friend. [2, c. 52 — 55], [3, c. 61 — 62].

57.1 wish | (to know) where you are and what you are doing. [2, c. 52 — 55], [3,
c. 61— 62].

58.1 wish | (to be) only joking. [2, c. 52 —55], [3, c. 61 — 62].

59.1 wish | (not to tell) you about it. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

60.We all wished that we (to stop) there. [2, ¢. 52 —55], [3, c. 61 — 62].
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[1, c. 102]

I1. Fill the gaps:

Monitoring Land Water

The State Hydrometeorological Service (the Ministry of Emergencies)
monitors hydrochemical state of water 151 water bodies and carries out

hydrobiological at 45 water bodies. The data are collected on 46
parameters, which allow assessment of the chemical composition of water,
biogeneous parameters, presence of suspended and organic

substances, the main pollutants, heavy metals and pesticides. 8 water bodies are
observed for chronic toxicity of water. The indicators of
contamination of surface waters are also determined.

The State Environmental Inspectorate (the Ministry of Environment)

a selective sampling and obtains data on more than 65 parameters
that are measured.

The State Committee for Water Management monitors rivers, reservoirs,
canals, and pieces of water within multi-purpose water resources
utilization systems, water supply systems, trans-border watercourses and
reservoirs in zones around nuclear power plants. Water quality is monitored using
physical and chemical parameters for 72 reservoirs, 164 rivers, 14 irrigation
systems, 1 firth and 5 multi-purpose channels. In addition, as a part of radioactive
monitoring, water management organizations monitor of radio
nuclides in surface waters.

The Sanitary and Epidemiological Service (the Ministry of Health) carries out
observations over the sources of centralized and decentralized drinking water
supply and recreation sites along and reservoirs.

The enterprises of the State Geological Survey (the Ministry of Environment)
monitor the state of groundwater. In the places of monitoring, the level of
groundwater (occurrence), its natural geochemical composition is assessed. 22
parameters, heavy metals and pesticides concentration are
determined.

The Sanitary and Epidemiological Service (the Ministry of Health) provides

analysis of groundwater intended for drinking

A) irrigation systems, B) rivers, C) consumption, D) including, E) the amount, F)
chemical, G) observations, H) provides, 1) particles, J) radioactive.
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4.7. 3aBaaHHs 10 iCIUTY.

1 3aBmaHHs
Grammar Test

I. Insert the proper form of the verb:

1. He seems (to work) much. [2, c. 38-42], [3, c. 85-100]

2. He is reported (to write) a new novel. [2, c. 38-42], [3, c. 85-100]
3. She ought (to tell) the truth. [2, c. 38-42], [3, c. 85-100]

4. This house seems ( to rebuild) already. [2, c. 38-42], [3, c. 85-100]
5. 1don’t (to understand) this text. [2, c. 38-42], [3, c. 85-100]

6. | happened (to ask) her about you when you came in. [2, c. 38-42], [3, c. 85-
100]

7. He seems (to know) wrong adress. [2, c. 38-42], [3, c. 85-100]

8. If you lent me your bag, | (to go) shopping. [2, c. 38-42], [3, c. 85-100]

9. You could (to ask) me first. [2, c. 38-42], [3, c. 85-100]

10. I am expecting (to give) a pay-rise next month. [2, c. 38-42], [3, c. 85-100]
11. Where is the girl (to read) the book? [2, ¢.42-47], [ 3, c. 100-113]

12. There (to be) little time left, we took a taxi. [2, ¢.42-47], [ 3, c. 100-113]

13. (To lose) the key, the boy couldn't get into the house. [2, c.42-47], [ 3, .
100-113]

14. Peter left the room (to say) that he was in a hurry. [2, ¢.42-47], [ 3, c. 100-
113]

15. (To think) that he was busy, | decided to call on him later. [2, c.42-47], [ 3,
c. 100-113]

16. (To graduate) from the university, | decided to return to my home city. [2,
c.42-47], [ 3, c. 100-113]

17. When (to speak) English, pay more attention to the word order. [2, ¢.42-47],
[ 3, c. 100-113]

18. (To run) across the field, | fell and hurt my ankle. [2, c.42-47], [ 3, c. 100-
113]

19. She stood silent, her hands (to press) together. [2, ¢.42-47], [ 3, c. 100-113]

20. The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
c.42-47], [ 3, c. 100-113]

21. He has no right to come bothering you and your father without (to invite).
[2, c.42-47], [ 3, c. 100-113]
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22. Tom went on (to whitewash). [2, c. 47-50], [3, c. 113-123]

23. He did not remember (to see) in that room. [2, c. 47-50], [3, c. 113-123]

24. The child deserves (to praise). [2, c. 47-50], [3, c. 113-123]

25) It looks like (to rain). [2, c. 47-50], [3, c. 113-123]

26. | hope you will forgive me (to disturb) you. [2, c. 47-50], [3, c. 113-123]
27. | said something about my clock (to be) slow. [2, c. 47-50], [3, c. 113-123]
28. | do not remember (to hear) the legend before. [2, c. 47-50], [3, c. 113-123]

29. Are you quite sure of those words ( to refer) to my brother? [2, c. 47-50], [3,
c. 113-123]

30. Do not forget (to shut) the windows when you leave home. [2, c. 47-50],
[3, c. 113-123]

31. If you (to go) to Paris you’ll see the Eiffel tower. [2, c. 59-60], [3, c. 55-
60]

32. What (to do) if you (to find) a treasure? [2, c. 59-60], [3, c. 55-60]

33. If I (to know) you are coming I won’t leave the house. [2, ¢. 59-60],
[3, c. 55-60]

34.1f | (to have) a big house, I ( to invite) friends. [2, c. 59-60], [3, c. 55-60]

35. He (to understand) the message if he knew Spanish. [2, c. 59-60], [3, c. 55-
60]

36. If the weather (to be) fine, we will celebrate your birthday outside. [2, c. 59-
60], [3, c. 55-60]

37. The parents (to let) me go to the South if | passed exams well. [2, c. 59-60],
[3, c. 55-60]

38. | (to find) those types of papers if | had a little bit more time. [2, ¢. 59-60],
[3, c. 55-60]

39. If we (to close) the window yesterday, it would not have been so cold in
here. [2, c. 59-60], [3, c. 55-60]

40. If the lady had not stopped the boy, he (to run) into the van. [2, c. 59-60],
[3, c. 55-60]

41. The dog (not to attack) you if you hadn't teased him. [2, ¢. 59-60], [3, c. 55-
60]

42. If they (to buy) a new tent, they might not have got wet during the night. [2,
c. 59-60], [3, c. 55-60]

43. You (not to ask) many questions tomorrow. [2, ¢.32-33], [3, c. 47-55]
44, This book (to look for) everywhere. [2, ¢.32-33], [3, c. 47-55]
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45. She (to choose) the best actress of this year. [2, ¢.32-33], [3, c. 47-55]
46. She (to help) with the housework now. [2, ¢.32-33], [3, c. 47-55]

47. The fence (to paint) by the end of next week. [2, ¢.32-33], [3, . 47-55]
48. They often (to laugh) at. [2, ¢.32-33], [3, c. 47-55]

49. These plants ( to water) before | came. [2, ¢.32-33], [3, c. 47-55]

50. The logs (to cut) too long for our fireplace yesterday. [2, ¢.32-33], [3, c. 47-
55]

2 3aBJIaHHS

I1. Translate and put 5 questions to the text.

In a democratic country like Great Britain the press, ideally, has three
political functions: information, discussion and representation. It is supposed to
give the voter reliable and complete information on which to base his judgement,
it should let him know the arguments for and against any policy, and it should
reflect and give voice to the desires of the people as a whole. Naturally, there is
no censorship in Great Britain, but in 1953 the Press Council was set up. It is not
an official body but it is composed of people nominated by journalists, and it
receives complaints against particular newspapers. It may make reports which
criticize papers, but its reports have no direct effect

The British press means, primarily, a group of daily and Sunday newspapers
published in London. They are most important and known as national in the sense
of circulating throughout the British Isles. All the national newspapers have their
central offices in London, but those with big circulations also print editions in

Manchester (the second largest press centre in Britain) and Glasgow in Scotland.
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3 3aBaaHHI
1. a) Translate the text and entitle it

b) Give a brief summary of the text (not more than 3 sentences)

But the best-known among the British national quality newspapers are as
follows.

“The Times” (1785) is called the paper of the Establishment. Politically it
Is independent, but is generally inclined to be sympathetic to the Conservative
party. It’s not a governmental organ, though very often its leading articles may
be written after private consultation with people in the government. It has a
reputation for extreme caution, though it has always been a symbol of solidity in
Britain. Its reporting is noted for reliability and completeness and especially in
foreign affairs. Its reputation for reflecting or even anticipating government
policy gives it an almost official tone.

“The Guardian” (until 1959 — “Manchester Guardian’) has become a truly
national paper rather than one specially connected with Manchester. In quality,
style and reporting it is nearly equal with “The Times”. In politics it 1s described
as “radical”. It was favourable to the Liberal party and tends to be rather closer
in sympathy to the Labour party than to the Conservatives. It has made great
progress during the past years, particularly among intelligent people who find
“The Times” too uncritical of the Establishment.

“The Daily Telegraph” (1855) i1s the quality paper with the largest
circulation (1.2 million compared with “The Times’s” 442 thousand and “The
Guardian’s” 500 thousand). In theory it is independent, but in practice it is an
orthodox Conservative paper and as such caters for the educated and semi-
educated business and professional classes. Being well produced and edited it is
full of various information and belongs to the same class of journalism as “The

Times” and “The Guardian”.
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V.

8.

9.

Write about “My scientific interests” (15 sentences)

5. JITEPATYPA JJUIA BUBYEHHSA JUCHUIIJITHA

OcHoBHA

MetoauyHi BKa31BKU IS MPAKTHYHOI POOOTH 3 JUCHUILTIHM «IHO3eMHa
MOBa 3a IpodeciHHUM CHPSAMYBaHHSAM» ISl MarictpiB 1 Kypcy AeHHOI
dbopmu HaBuaHHS. PiBeHb mMiArOTOBKM Marictp, HanpsM MiATOTOBKH — YCi
Hanpsmu. Yknagad: [1I'saosa LLYO. -x.¢.H., nonent -Oneca, OJJEKY, 2016. -
115 ¢. — AHII. MOBOIO.

MeTtoauyHi BKa3iBKM 3 TpaMaTUKH aHTJIIACBKOT MOBHU i cTyaeHTiB |, |l
Kypcy JaeHHoi ¢opmu HaBuaHHS. HampsiM HiATOTOBKM — yC1 HaIpsSMKH.
Vxnanaui: IT'soBa LIO. — x.d.H., nouent, IlloToBa-Hikonenko I'.B. —
K.}.H., noueHt — Oneca: OJAEKY, 2009. — 72c.

Bep6al. B., Bep6aJl.I'. JloBimHHMK 3 TpamMaTUKH aHIJIIHACBKOI MOBH:
Josiak. Bug. — 3-te Bug. — K.: Ocsita, 1993. — 320 c.

HapyanbHuii MOCIOHUK 3 TpaMaTHKUA aHTJIIACHKOT MOBHU JJISI MariCTpiB Ta
acnipanTiB. HanpsiMok miAroTOBKH - yci HanpsMu. Y kiagadi: [1'snosa [L1O.
-K.(.H., nouent, [1la6miit O.B. - cr. Buknagau — Oneca, OJIEKY, 2006. —
425 c. — Anri. ta YKp. MOBOIO.

HaBuanpHuii mociOHMK 3 TrpaMaTUKH aHMIiNCchkoi MOBU: HaBuanbHuUit
nocionuk. Ykmanau: IlloroBa-Hikomenko I'.B. — k.¢.H., nouent. — Oxeca:
Bupasununii gim «I'enbpBetukay, 2020. — 192 ¢. — AHIII. MOBOIO.

JlonaTkoBa Jiiteparypa

MeTonnuH1 BKa3iBKU 3 aHTIIICHKOI MOBU AJIsl CTYAEHTIB V Kypcy. PiBeHb
NIAroToBKM Marictp, Hanpsim miarotoBku — «Exomnorisy (IX cemectp).
VYxnanauai: [1'saoBa LIO. -k.d.H., nouent, [Iladmiii O.B. - ct. Buknagay -
Opmeca, OIEKY, 2006. — 58 ¢. — AHIII. MOBOIO.
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